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In the two zetz given below. Set I provides levels of teaching while Set II gives their focus of

concern :
Set I
(Levels of Teaching)
(a) Autonomous development level
(b) DMemory level
(c) Understanding level
(d) Reflective level

Select correct answer from the options given below :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (h)-(11). (c)-(1v). (d)-(v)

(a)-(1). (b)-(1v). (e)-(1m1). (d)-(11)
(a)-(11). (h)-(111). (¢)-(1v). (d)-(1)
(a)-(v). (b)-(1v). (¢)-(111). (d)-(11)

E154757401. 1
6154757402 2
6154757402 3
E154757404 4

(1)
(11)
(111)

(1v)

(V)

Set II
(Focus of concern)
Problem raising and problem solving
Affects and feelings
Recall of factz and informations

Seeing of relationship among facts and
their examples

Peer learning

Question Number : 1 Question Id : 6154751897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1). (b)-(11). (c)-(v). (d)-(v)

(2) (a)-(1). (b)-(1v). (c)-(111). (d)-(11)

(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)

(4) (a)-(v). (b)-(av). (c)-(11). (d)-(11)
Options:

E154757401. 1
E154757402 2
B154r57403. 3
6154757404, 4

Question Number : 2 Question Id : 6154751898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the context of classroom teaching. the foundation on which a warm and nurturing
relationship with learners can be built 1s called :

(1) Probing (2) Teacher Affect
(3) Structuring (4) Feedback
Options:

6154757405 1
E154757406, 2
E154757407 3
B154757408. 4

Question Number : 2 Question Id : 6154751898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E154757405. 1
E154757406 2
B154r57407 3
E154757408. 4

Question Number : 3 Question Id : 6154751899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the list of learning outcomes indicated below. identify those which are said to be high
level outcomes :

{(a) Learning of facts and rules

(b} Showing the abilitv to analvse and svnthesize
(c) Awareness. responding and valuing

(d) Imitation. manipulation and precision

(e) Articulation and naturahzation

(f) Organization and characterization

Select correct answer from the options given below :

(1) (b). (e) and (f) (2) (a). (b) and (c)
(3) (b). (c) and (d) (4) (a). (c) and ()
Options:

61547574059 1
6154757410 2
E154757411. 3
B154757412 4

Question Number : 3 Question Id : 6154751899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154757409 1
E154757410 2
BE154757411 3
B154r5741% 4

Question Number : 4 Question Id : 6154751900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following sequences correctly reflects the evolution of educational

technology support in higher education?

(D) Programmed learning material, text book support, online and modular material

(2) Text book supplementation, programmed learning material, modular material and

online methods

(3) Modular material, programmed learning, online and text book supplementation

(4) Online methods, modular material, text-book supplementation and programmed

learning material
Options:
154757412 1
6154757414 2
6154757415 2



E154757416 4

Question Number : 4 Question Id : 6154751900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547574131

E154757414 2
6154757415 3
B154r57416. 4

Question Number : 5 Question Id : 6154751901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the two zets given below 1n which Set I mentions levels of measurment and Set II
their properties :

Set I Set I
(Levelz of measurement) (Properties)
(a) Nominal (1)  Classification. order. equal umits and
absolute zero
(b)  Ordinal (1) Claszsification. order and equal units
(c) Interval (111) Classification
(d) Ratio (1v) (Classification and order

Select correct answer from the options given below :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(4) (a)-(111). (b)-(1v). (¢)-(11). (d)-(1)



Options:

6154757417 1
£154757418 2
5154757419 2
6154757420, 4

Question Number : 5 Question Id : 6154751901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1)., (b)-(i1), (c)-(1i1), (d)}-(1v)
(2) (a)-(11). (b)-(111). (c)-(av). (d)-(1)
(3) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

6154757417, 1

6154757418, 2

6154757419 3
6154757420 4

Question Number : 6 Question Id : 6154751902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the tests from the list given below. which are maximum performance tests in the

context of research :

(a) Personality tests
(b) Projective personality tests
(c) Achilevement tests

(d) Attitude tests
(e) Intelligence tests

(f) Aptitude tests

Choose correct answer from the options given below :

(1) {a). (b) and (c) {2) (b) (c) and (e)
(3) (c). (e) and () (4) (a). (d) and ()
Options:

BE154757421. 1
B154r57422 2
B154r57423 3
E154757424 4

Question Number : 6 Question Id : 6154751902 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154757421 1
6154757422 2
E154757423 2
6154757424 4

Question Number : 7 Question Id : 6154751903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research 1s cyvelic in nature?

(1) Fundamental research

(2) Applied research

(3) Action research
{4) Evaluative research
Options:

B154r57425 1
B154r57426 2
E154757427 3
6154757428 4

Question Number : 7 Question Id : 6154751903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757425 1
6154757426, 2
6154757427 2
6154757428, 4

Question Number : 8 Question Id : 6154751904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following sampling methods emploved 1n research. the units comprising the

sample are given equal and independent chance?

(1) Stage sampling
(2) Cluster sampling
(3) Dimensional sampling

(4) Snowball sampling

Options:

6154757429 1
6154757430 2
6154757431 3
£154757432 4

Question Number : 8 Question Id : 6154751904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

6154757429 1
6154757420 2
6154757431 3
6154757432 4

Question Number : 9 Question Id : 6154751905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The 1ssue of research ethics becomes relevant in which of the following stages of rezearch?

(a) Problem selection

(b) Hypothesis formulation

(c) Hypothesis testing

(d) Data analysis and interpretation

(e) Defining of research population

Select correct answer from the following options :

(1) (a) and (b) (2)  (c) and (d)
(3) (b} and (e) (4) (c)and (e)
Options:

BE154757433 1
B154757434 2
6154757435 3
E154757436. 4

Question Number : 9 Question Id : 6154751905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:

6154757432 1
E154757434 2
E154757435 3
B154r574356. 4

Question Number : 10 Question Id : 6154751906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which type of qualitative research designs. individual stories to describe the lives of
people are explored?

(1) Ethnography (2) Grounded theory research
(3) Svmbolic interaction (4) Narrative research
Options:

E154757437. 1
6154757438 2
E154757439 3
E154757440 4

Question Number : 10 Question Id : 6154751906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B154r57437. 1
6154757438 2
6154757439 3
E154757440 4

Question Number : 11 Question Id : 6154751907 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mini-summaries at the end of each class 12 called

(1) Verbal break-up

(2) Chichéd conclusion

(3) Verbal signposting

(4) Staggered conclusion
Options:

61547574411
6154757442 2
E154757443 3
E154757 444 4

Question Number : 11 Question Id : 6154751907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£154757441. 1

E154757442 2
E154757443 3
B154757 444 4

Question Number : 12 Question Id : 6154751908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Micro expressions, as part of classroom communication. are

(1) negative

(2) positive

(3) manipulative

(4) fleeting
Options:

E154757445 1
6154757446 2
6154757447 3
6154757448 4

Question Number : 12 Question Id : 6154751908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757445 1
E15475744E 2



E154757447 3
6154757448, 4

Question Number : 13 Question Id : 6154751909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

knd

Which of the following are essential for good classroom communication’

(a) Over-emphasis on certain words
(h) Use of gobbledvgook

{c) Proper emplovment of redundancy
(d) Immediacy of feedback

(e) Non-verbal cues

(f) Sidelining student criticism

Choose the correct option from the following :

(1) {(a). (b) and (c) (2) (b). (e¢) and ()
(3) {c). (d) and (e) (4) (d). (e) and (D
Options:

6154757445 1
6154757450 2
6154757451 3
E154757452 4

Question Number : 13 Question Id : 6154751909 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757445 1
6154757450 2
6154757451 3
6154757452 4

Question Number : 14 Question Id : 6154751910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pitch of the teacher's voice in the classroom 1s described as

(1) Linguistic (2) Paralinguistic
(3) Non-linguistic (4) Macro-hnguistic
Options:

E154757453. 1
E154757454 2
6154757455 3
G154757456. 4

Question Number : 14 Question Id : 6154751910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) TN (2) TS
(3)  Tare= (4) TN
Options:

E1547574535 1



E154757454 2
6154757455 3
B154r57456. 4

Question Number : 15 Question Id : 6154751911 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One 15 labelled as Assertion (A) and the other 1s labelled
as Keazon (R).

Assertion (A) ; If a teacher wants to 1improve his or her abilities as an effective classroom
communicator. he or she should first understand the students.

Reasons (R) : The ability to understand students and intended listening are disjointed
propositions.

In the light of the above two statements. choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)

(2) Both (A) and (R) are true. but (R) 1s not the correct explanation of (A)
(3) (A) 1s true. but (R) 1s false

(4) (A) 15 false. but (R) 12 true

Options:

154757457 1

154757458 2

154757459 =2

154757460 4

Question Number : 15 Question Id : 6154751911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E154757457 1

E154757458. 2
E154757459 3
B154757480. 4



Question Number : 16 Question Id : 6154751912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the missing term in the series given below?

2,4, 6,12, 10, 36, 14,72, 13,324, .....

(1) a0 (2) T2
(3) 108 (4) 18
Options:

BE154757461. 1
B154r57482 2
E1547574E3. 3
E154757464. 4

Question Number : 16 Question Id : 6154751912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

ffeAfiga g@en § 98 3% #1287

2. 4,6,12,.10,36,.14, T, 18, 324, ...

(1) 50 2y 72
(3) 108 (4) 18
Options:

E154757461. 1
E154757462 2
E1547574E3. 3
E154757464. 4

Question Number : 17 Question Id : 6154751913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Apoorav 1z son of Madhu. Vinod 1s brother of Madhu's husband. How 15 Apoorav related to
Vinod?

(1) Uncle (2) Brother
(3) Nephew (4) Cousin
Options:

6154757465 1
6154757466 2
E154757467. 3
E154757468. 4

Question Number : 17 Question Id : 6154751913 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B154r57465. 1
6154757466 2
E154757467. 3
E1547574E8. 4

Question Number : 18 Question Id : 6154751914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a certain code "ENGLAND" 1z written as “ULSNYLV". Using the same code. “IRELAND”

will be written as

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

6154757469 1
E154757470 2
B154757471 3
B154r57472 4

Question Number : 18 Question Id : 6154751914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 “ENGLAND” 1 & “ULSNYLV" 2 1 3di e 9™ %1 $9m &4 T “IRELAND” # %2
afefigd 4 O 7rE v=n formgn = 7

(1) HQUNYLV (2) QHUNYLV
(3) QUHNYLV (4) HUQNYLV
Options:

51547574859 1
6154757470 2
6154757471 3
E154757472 4

Question Number : 19 Question Id : 6154751915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of two numbers @ and b 1s 3 : 7. After adding 9 to each number. the ratio becomes
9 :17. The numbers ¢ and b are :

(1) (6. 14) (2) (9. 21)

(3) (15. 35) (4) (18.42)

Options:



BE154757473. 1
B154r57474 2
6154757475 3
E154757476. 4

Question Number : 19 Question Id : 6154751915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (6, 14) 2y (9, 21)
(3) (15, 35) (4) (18, 42)

A

i

Options:

6154757473
6154757474
6154757475,
6154757476,

T

Question Number : 20 Question Id : 6154751916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next term 1n the series

AT. EQ, IN, OK. .....is

(1) UH (2)y UP
(3) Uus (4) UU
Options:

B154r57477. 1
6154757478 2
E154757479 3
E154757480. 4

Question Number : 20 Question Id : 6154751916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) UH (2) UP
(3) us (4) UU
Options:

E154757477. 1
E154757478 2
BE154757479 3
B154757480. 4



Question Number : 21 Question Id : 6154751917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Evervone 1s going to the party. You should go too.” This inference commits which kind of
fallacy?

(1) Ad Populum (2) Eguivocation
(3) Ad Verecundiam (4) Ad Ignorantiam
Options:

E154757481. 1
6154757482 2
E154757483. 3
E154757 484, 4

Question Number : 21 Question Id : 6154751917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“gT 2 U § A1 TET 2| AR S S 90T 369 AAE F99 § R ° a5eN 27

(1) U8 9rgeH (2) I (EarRT)
(3)  ug dfEfzan (4) UE TAAZIY
Options:

B154757481. 1
6154757482 2
6154757483 3
E154757484, 4

Question Number : 22 Question Id : 6154751918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“All students cleared their examination” and “Few students did not clear their examination”.

This 18 an instance of

(1) Contradictories (2) Superaltern
{(3) Subaltern (4) Contraries
Options:

E154757485 1
B154r57486 2
B154757487. 3
6154757488 4

Question Number : 22 Question Id : 6154751918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gt B T A ofEm S R qen cwae 2En 3 A olfien 395 a8

7z FitFd 0 O T 39 27

(1)  Tadremam (2) AgTHE (T A2 )
(3)  ITEEr (4)  TaIETames
Options:

E154757485. 1
E154757486, 2
E154757487. 3
BE154757488. 4

Question Number : 23 Question Id : 6154751919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Product of two consecutive integers 1s divisible by 2. Therefore 4 x 5 (=20) 1= divisible by 2.

This 1s an example of which tvpe of Reasoning?

(1) Abductive (2) Informal
(3) Inductive (4) Deductive
Options:

E1547574859. 1
6154757430 2
E154757491. 3
E154757492 4

Question Number : 23 Question Id : 6154751919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
21 HIF qUIRT 1 OERA TE 2 H a9y 21 34, 4 x 5 (=20) T 2 faurT 2

7 750 TH1 F 9% 1 35 27

(1) HAITHATH* (2 ST
(3)  STITEATHE (4) FTEETEE
Options:

BE154757489. 1
6154757480 2
6154757431 3
6154757492 4

Question Number : 24 Question Id : 6154751920 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The distinction between laukika and alaukika is made with reference to which one of the
following pramanas?

(1) Anumana (Inference) (2) Upamana (Comparison)
(3) Pratvaksa (Perception) (4) S'abda (Verbal testimony)
Options:

E154757483 1
E154757494 2
B154757495 3
B154r57496, 4

Question Number : 24 Question Id : 6154751920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fr=afafiga 1 o g v & g § SfERs 99 IreilEsT % 9 379 3 R w27

(1) H4HH (2) 3J9HHA
(3) Tcg4 (4) Tleqg
Options:

E154757433. 1
6154757494 2
E154757495 3
B154757496, 4

Question Number : 25 Question Id : 6154751921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Some students are sincere’ 1s an example of which preposition?

(1) Universal Affirmative (2) Umniverszal Negation
(3) Particular Affirmative (4) Particular Negation
Options:

BE154757497 1
6154757498 2
6154757499 3
6154757500, 4

Question Number : 25 Question Id : 6154751921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“FF BH FAAMEE 27, T2 50 TFR F THA F1 35w 27

(1)  OE9H @99 (2) T e
(3)  faum faem (4) TafTe fHug
Options:

B154r57457. 1
6154757498 2



E1547574959 3
B154757500, 4

Sub-Section Number: 2
Sub-Section Id: 61547586
Question Shuffling Allowed : Yes

Question Id : 6154751922 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension

Q. No. 26-30

The following table gives the percentage of marks obtained by five students in five subjects.
Maximium marks in each subject are given in the parenthesis below the subject name.

Percentage (%) Marks obtained
Student | Maths | Chemistry | Physics | English Physical Education
(100) (150) (150) (100) (100)
A 90 80 95 S0 a0
B 80 75 a0 70 80
C 100 95 95 85 a5
D 5 70 60 65 60
E 60 a0 65 50 70

Sub questions

Question Number : 26 Question Id : 6154751923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ageregate of marks obtained by E 1s :

(1) 252.5 (2) 2b1.5
(3) 353.5 (4) 3bH2.56
Options:

E154757501. 1
E154757502 2
BE154757503 3
6154757504, 4

Question Number : 27 Question Id : 6154751924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the difference between ageregate marks obtained by A and C?

(1) 40.5 (2 41.5
(3) 42.5 (4) 43.5



Options:

6154757505 1
£154757506. 2
E154757507. 2
6154757508, 4

Question Number : 28 Question Id : 6154751925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which subject. the students have obtained lowest average (%) percentage of marks?

(1) Chemistry (2) Physics
(3) English (4) Physical Education
Options:

E1547575059. 1
6154757510 2
E154757511. 3
B154757512 4

Question Number : 29 Question Id : 6154751926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The agegregate percentage of marks obtained by C are :

(1) 92.20% (2) 94.17%
(3) 95.21% (4) 91.17%
Options:

51547575131
6154757514 2
6154757515 3
E154757516. 4

Question Number : 30 Question Id : 6154751927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the average percentage of marks obtained by the students in Chemistry?

(1) T4% (2) 7T9%
(3) 80% (4) 81%
Options:

E154757517. 1
6154757518 2
E154757519. 3
E154757520 4

Question Id : 6154751922 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)



Cuesticon Label | Comprehension

o5 9. 26 T 30

ffeafiga arfasr 8 o= fasdl ° 99 @0 g wie =6 T 3 SR giasEan g 2| ueas e o g
fama % 7 % 9= e I ™ 2

(100) [ (150) | (150) | (100) (100)
A 00 30 95 30 90
B 30 75 90 70 80
C 100 95 95 85 95
D 75 70 60 65 60
E 60 50 65 50 70

Sub questions

Question Number : 26 Question Id : 6154751923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 25325 (2) 251.b
(3) 3535 My 3525
Options:

E154757501.1
E154757502 2
6154757503 3
E154757504 4

Question Number : 27 Question Id : 6154751924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 40.5 (2) 41.5
(3) 42.5 (4) 43.5
Options:

E154757505. 1
E154757506 2
B154757507. 3
E154757508. 4



Question Number : 28 Question Id : 6154751925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o Tam3 O @i 9 a0 J9d (%) 9faea a3 9 5 27

(1) ™A fagm (2) fifR fagm
(3) AU (4)  FIHTER T
Options:

B154757505. 1
61547575100 2
6154757511 3
6154757512 4

Question Number : 29 Question Id : 6154751926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
C ZFT el Tohad Tiderd 1% U9 7 137

(1) 92.20% (2)  04.17%
(3) 95.21% (4) 91.17%
Options:

61547575131
6154757514 2
E154757515 3
E154757516. 4

Question Number : 30 Question Id : 6154751927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T T3 § B w1 Aieg gfaee uTeE = e

(1) 74% (2) 79%
(3) 80% (4) 81%
Options:

E154757517. 1
6154757518 2
E154757519. 3
E154757520 4

Sub-Section Number : 3
Sub-Section 1d: 61547587
Question Shuffling Allowed : Yes



Question Number : 31 Question Id : 6154751928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a programming language?

(1) Deep learning (2) Machine learning
(3) Artificial Intelligence (4) Python
Options:

E154757521. 1
B154r57522 2
B154r57523 3
B154r57524. 4

Question Number : 31 Question Id : 6154751928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TtertEa O % U e 9 g v

(1) 2 = (2) HIE AR
(3)  Fhm gig (4) TEEH
Options:

BE154757521. 1
B154r57522 2
6154757523 3
6154757524 4

Question Number : 32 Question Id : 6154751929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match Last I with Last II.

List I List IT
(a) WWW (1)  Volatile memory
(by JAVA (1) Non-volatile memory
(c) RAM (1) World Wide Web
(d) ROM (1v) Programming language

Choose the correct option from the following :

(1) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-{1)
(3) (a)-(111). (b)-(av). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
Options:

6154757525 1

6154757526 2

E154757527. 2

6154757528, 4

Question Number : 32 Question Id : 6154751929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 &1 ge1-11 4 oo &4

=1 = -11
(a) =g Zog 3 (WWW) (i)  THEd-Efe i
(b) ST (JAVA) (1)  T-giEdEie Jid
(¢) 1M (RAM) (ii1) des 92g 99
(d) ™ (ROM) (iv) ST e
Fefafga 8 4 w@ fawen 94

(1) (a)-(1). (b)-(11). (e)-(111). (d}-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
Options:
6154757525, 1
6154757526, 2
6154757527, 3
6154757528, 4

Question Number : 33 Question Id : 6154751930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which description 1s appropriate among the following for ‘E-Governance'?

(1) To engage. enable and empower the citizens

(2) To provide fair and unbiased services to the citizens
(3) To provide technology driven governance

(4) To ensure people’s faith in E-Commerce applications
Options:

B1547575259. 1
61547575300 2
6154757531 3
E154757532. 4

Question Number : 33 Question Id : 6154751930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“F-TEAE" F [0 AEdEd 1 # FE |1 G 39T 2

(1)  TFTET =1 9Fier, 990 37 O9F 991
(2) AW 1 34 31 9499 Ted dae o
(3) SR Arierd gemEE w1

(4)  S-FOE FITEM H F9 1 Avaw g w7

Options:

154757529 1
E154757520 2
6154757521, 2
6154757532 4

Question Number : 34 Question Id : 6154751931 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a search engine?

(1) Internet
(2) Bing
(3) Skvpe

(4) Acrobat Reader

Options:

6154757533 1
£154757534 2
£154757535 2
6154757536, 4

Question Number : 34 Question Id : 6154751931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feaEfE i g FR T o= 591 27
(1) LT
(2) Tam

(3) h1ET (skype)

(4) UhieZ 1=t

Options:
6154757533 1
6154757534 2



E154757535 3
B154r575356. 4

Question Number : 35 Question Id : 6154751932 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — One 1s labelled as Assertion (A) and other 1s labelled as

Reason (R) :

Aszertion (A):  The internet 1s a collection of interconnected computer networks, linked by
transmission medium such as copper wires. fibre-optic cables. wireless

connections ete.

Reasons (R) : World Wide Web 1s a collection of interconnected documents.
In the right of the above two statements, choose the correct answer :

(1) Both (A) and (R) are true. and (R) 1s the correct explanation of (A)
(2) Both {(A) and (R) are true. but (R) 1s not correct explanation of (A)
(3) (A) 1s true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:

6154757537 1
£154757538 2
£1547575329 2
6154757540, 4

Question Number : 35 Question Id : 6154751932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



J 31 F9F 120 0 €, U F AEEE (A) 3R 35 F T (R) Fa ™ E

HTFAE (A) 2202 Ad: TANAA FO2L J2a9H] #1 U% d9=4 & 91 914 & dr, FEa-J1es Fad,

ACTH F99H, TANE 48 J=00 HIAH] ¥ 21 26 2

T (R) : des A13S 94 Id; BANGd Yord] #1 UF 9= 2|
IFF GHI FGAT F AT H TR I G

(1) (A) 3 (R) ZHT1 |21 2 31 (R). (A) =l T2 == 2
(2) (A) FT (R) SET B8 ¢ 3T (R). (A) il T =041 T2l ¢
(3) (AT 2, 5 (R) T 9E 2

(4) (A Td TE 2. T (R) T8 2

Options:

6154757537 1
£154757538 2
£1547575329 2
6154757540, 4

Question Number : 36 Question Id : 6154751933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the Sustainable Development Goals from the list given below :
(1) Zero Hunger
(11) Quality Education
(m) Universal Primary Education
(iv)  Clean Water and Sanitation
(v) Green Agriculture

(vi) Climate Action

Select correct answer from the options given below :

(1) (1). (11). (111) and (1v) (2) (1. (111). (1v) and (v)
(3) (111). (1v). {v) and (1) (4) (1). (). (av) and (v1)
Options:

E154757541. 1
E154757542 2
B154r57543 3



E154757544 4

Question Number : 36 Question Id : 6154751933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tafafgs § o guwoim fTm + =251 Ff 72=3r Fifau
(D A I (S W)

(i)  ToTEETgel e

(iii) T gries e

(iv) =g 9o AR ==gdl

(V) i Fi

(vi)  FeIar] H

!:. F (i r-r- r “ﬁﬁﬂ%ﬁ'mﬂr ,ﬁ|:_'.1:

(1) (1), (i1), (i11) 37 (iv) (2) (). (). (iv) 3 (v)
(3) (iii), (iv). (v) 3 (1) (4) (1. (1i). (iv) 3T (v1)
Options:

61547575411
E154757542 2
BE154757543 3
6154757544 4

Question Number : 37 Question Id : 6154751934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following two sets. Set I lists the names of states. while Set II indicates state

specific missions.

(a)
(b)
(c)
(d)

Set I
Andhra Pradesh
Gujarat
Maharashtra

Rajasthan

(1)
(i1)
(111)

(1v)

Set II
Mukhya Mantri Jal Swavalamban Abhivan
Jalvukt Shivar Abhivan
Neet:1 Samrakshana Udvamam

Sujalam Sufalam Jal Abhivan

Select correct answer from the options given helow :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(a)-(11). (b)-(1). (e)-(av). (d)-(111)
(a)-(111), (b)-(1v). (c)-(11). (d)-(1)

E154757545. 1
E15475754E 2
B154757547 3
6154757548, 4

Question Number : 37 Question Id : 6154751934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TeAfatad 21 #2911 gifed itay| T2-1 § T4 % 919 311 3201 § = fafse whem (e e g
071 211
(a) 319 929 (1) HEAEH I FEEead JiaE
(b) T (1) eI Sal ANEH
(c) THEATE (ii1) T TEE 3=my
(d) TTEEH (iv) HSH TFAH T 3=
Tefaiad @%ed] 8§ T T2l 301 &1 994 <0
(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-{1)
(3) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(4) (a)-(111). (b)-(1w). (c)-(11). (d)-(1)
Options:

E154757545. 1



E15475754E 2
6154757547 3
6154757548, 4

Question Number : 38 Question Id : 6154751935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Average nolse levels 1n heavy traffic zones 1in major cities in India are generally in which of
the following ranges of noise levels?

(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA
Options:

E1547575459. 1
E1547575500 2
6154757551 3
G154757552 4

Question Number : 38 Question Id : 6154751935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qd % @2 W2 4 H9d AGEE &390 0 A0 A w9 A9 J8 1 eiaigd 1 O B el w1l 9w
(1) 31-40 dBA (2) 41-50dBA
(3) 70-95 dBA (4) 110-120 dBA

Options:

61547575459 1
6154757550 2
E154757551. 3
E154757552 4

Question Number : 39 Question Id : 6154751936 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Montreal Protocol refers to

(1) Cooperation among UN member countries to combat climate change

(2) Phasing out the consumption and production of ozone depleting substances
(3) Ensuring environmental sustainability

(4) Safeguarding societal quality of life worldwide

Options:

BE154757553. 1
6154757554 2
6154757555 3
6154757556 4

Question Number : 39 Question Id : 6154751936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(2) AT 1 &0 3 dTed 92191 F 32T H1T @99 =0 0EE B9 O OOH HE
(3) TR AEEOES GHTEd H
(4) 9 Tava 1 A = w2 =

Options:

61547575551
6154757554 2
6154757555 2
6154757556 4

Question Number : 40 Question Id : 6154751937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which category Cochin International Airport has been conferred. the UN's Champion of
the Earth Award?

(1) Policy Leadership (2) Entrepreneurial Vision
(3) Science and Innovation (4) Inspiration and Action
Options:

E154757557. 1
E154757558. 2
BE154757559 3
6154757560, 4

Question Number : 40 Question Id : 6154751937 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FEA FTEE 2R 32 F1 FeAfafgd § 4 g 9o § 9% g 1 <dea atF g e e 5 mn
27

(1)  fifo= 9= (2) A gfasq gfe
(3) o =i FEr (4) I i ity
Options:

E154757557. 1
6154757558 2
E154757559. 3
E154757560. 4

Question Number : 41 Question Id : 6154751938 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following modes of admission was prevalent in Nalanda University in ancient
times?

(1) Entrance Examination (2) Interview
(3) Good Academic Credentials (4) Peer Discussion



Options:

6154757561 1
£154757562. 2
E154757563 2
6154757564 4

Question Number : 41 Question Id : 6154751938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TAAHTA 1§ ATl 99 Taanel 0 g 4 3 F5 5 9997 fatg s1aare =7

(1) 999 T (2) TETFR
(3)  IW S gEE (4) TEEAT T
Options:

E154757561. 1
6154757562 2
E1547575E3. 3
E154757564. 4

Question Number : 42 Question Id : 6154751939 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What are the current challenges in the field of higher education in India?

(1) Expansion

(11) Equity

(m) Funds

(1v) Examination Reforms
(v) Excellence

(v1) Entrance Examinations

Select correct answer from the options given below :

(1) (1). (1) and (v1) (2) (1), (1) and (1v)
(3) (11). (1v) and (vi1) (4) (1). (1) and (v)
Options:

BE154757565. 1
B154r57566. 2
E154757567. 3
6154757568 4

Question Number : 42 Question Id : 6154751939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A § It e % & § gdnam gt 87

(1) =

(11) AT
(i) T

(iv) T 99r
(v)  3cheEdl

&

(vi) s JEET

e fou U fasedl § 9 @ 3 9HT

(1) (@), (i) FT (vi) (2) (i), (iil) 3 (iv)
(3) (1i1). (iv) 3T (vi) 4) (1), i) 31 (v)
Options:

E154757565. 1
B154757566. 2
B154r57567. 3
6154757568 4

Question Number : 43 Question Id : 6154751940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following emphasized that education needs to be managed 1n an atmosphere of
utmost intellectual rgour. zeriousness of purpose and of freedom essential for imnovation
and creativity?

(1) National Policy on Education—19683

(2) National Policy on Education—1986

(3) NITI Aavog-Three Year Action Agenda (2017-18 to 2019-20)
(4) Draft National Education Policy—2019

Options:

61547575659 1
6154757570, 2
6154757571 3
6154757572 4

Question Number : 43 Question Id : 6154751940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154757569 1
6154757570 2
6154757571 3
6154757572 4

Question Number : 44 Question Id : 6154751941 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From the following, i1dentify the organisation that provides a common platform to all
universities including institutions of national importance :

(1) University Grants Commission
(2) Aszociation of Indian Universities
(3) Distance Education Council

(4) Indian Institute of Advanced Study

Options:

6154757573 1
6154757574 2
6154757575 3
E154757576 4

Question Number : 44 Question Id : 6154751941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4) I T

Options:

6154757573 1
6154757574 2
E154757575 2



B154757576. 4

Question Number : 45 Question Id : 6154751942 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Creation of World-Class Universities requires :

(1) Autonomous governance

(11) Focused funding

(m1) Control over evaluation mechanism
(1v) Independent outcomes

(V) Appointment of staff by the State Machinery

Select correct answer from the option given below :

(1) (1), (1) and (v) (2) (1), (1) and (v)
(3) (111). (1v) and (v) (4) (1), (1) and (av)
Options:

B154r57577. 1
B154r57578 2
E154757579 3
6154757580, 4

Question Number : 45 Question Id : 6154751942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) I A

(i)  HeRf=zd FAREEE

(iii) T 99 T AT
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(1) (1. (i1) 31 (v) (2) (). (iii) 3 (v)

(3)  (iid). (iv) 3E (v) (4) (1), (i1) 37 (iv)
Options:

B154r57577. 1
6154757578 2
6154757579 3
E154757580. 4

Sub-Section Number: 4
Sub-Section 1d: 61547588
Question Shuffling Allowed : Yes

Question Id : 6154751943 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension



Eead the following passage carefully and answer gquestions from 46-50.

Intra-industry trade arises in order to take advantage of important economies of scale 1n
production. That 1s. international competition forces each firm or plant in industirmal
countries to produce only one. or at most a few. varieties and styles of the same product
rather than many different varieties and styles. This 1s crucial in keeping unit costs low.
With few varieties and stvles. more specialised and faster machinery can be developed for a
continuous operation and a longer production run. The nation then imports other varieties
and stvles from other nations. Intra-industry trade benefits consumers because of the wider
range of cholces. 1.e.. the greater variety of differentiated products. available at the lower
prices made possible by economies of seale 1n production. Because of this. large welfare gains
arise from the abilityv of consumers to greatly increase the variety of goods that theyv can
purchase through trade. The 1mportance of intra-industry trade became apparent when
tariffs and other obstructions to the flow of trade among members of the European Union. or
common market were removed 1n 1958. It was found that velume of trade surged but most of
the increase involved the exchange of differentiated products within each breoad industirmal

classification.

Sub questions

Question Number : 46 Question Id : 6154751944 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The 1mpact of international competition on intra-industry trade can be seen 1n

(1) the availlability of wide varieties of products
(2) the limited varieties of the same product
(3) adverse effect on industrial production
(4) restrictive advantages of production
Options:

BE154757581. 1
B154r57582 2
6154757583 3
6154757554 4

Question Number : 47 Question Id : 6154751945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mass production of a few varieties of products will result in

(1) low cost of unit
(2) advantage to industrial economies of scale
(3) benefits to the customers of important economies
(4) increased cost of production
Options:

E154757585. 1
E154757586. 2
E154757587. 3
BE154757588. 4

Question Number : 48 Question Id : 6154751946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Development and use of specialised machinery will lead to

(1) more varieties of products (2) decreased consumer welfare
(3) 1import of varieties of product (4) hindered intra-industry trade
Options:

B1547575859. 1
6154757530 2
E154757531. 3
E154757582 4

Question Number : 49 Question Id : 6154751947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lower product price means

(1) continued production run

(2) abhsence of choice

(3) increase 1n trade information exchange
(4) mmcreased consumer purchasing power
Options:

E154757533. 1
6154757594 2
E154757595 3
E154757596. 4

Question Number : 50 Question Id : 6154751948 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the consequence of removal of barriers to the flow of trade in European Union?

(1) Sluggish intra-industry trade

(2) Flow of uniform products

(3) Spurt 1in trade volume among member states
(4) Emphasis on differentiated products

Options:

6154757597 1
6154757598 2
6154757599 3
6154757600, 4

Question Id : 6154751943 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Juestion Label @ Comprehension
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Sub questions

Question Number : 46 Question Id : 6154751944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757581,
6154757582
6154757583
6154757584

L e

Question Number : 47 Question Id : 6154751945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SATG] °F %@ TRl ok 9 3c9ed %1 TR0 B
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Options:

6154757585 1
6154757586, 2
6154757587 3
6154757588 4

Question Number : 48 Question Id : 6154751946 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferpr 27l fafere gefd = 39 =1 == gftomm S e
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Options:

E154757589. 1
6154757530 2
E1547575491. 3
E154757592 4

Question Number : 49 Question Id : 6154751947 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Y 397 §od 1 A9 7

(1) Tdd 3912 9= (2) Ta%=9 = 399
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Options:

BE154757593 1
6154757594 2
6154757535 3
61547575396, 4

Question Number : 50 Question Id : 6154751948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I A § =R FA1 6 [0 STl =1 224 =61 341 900y 239 7

(1) 374 3T =OE | 09 (2) THH IcAE] F T2l
(3) e Tl % A= AR H qE 4 dig (4) TafEg 3eTEl ®aa
Options:

BE154757597. 1
6154757588 2
E154757599 3
E154757600. 4

FART II Library and Information Science

Section Id : 61547528
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 61547589
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154751949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the committee charged with the responsibility for Indian standards related to

Iibraries

(1) Z-39 (Y TC-46

(3) BIS-LIB (4y MSD-5
Options:

E154757601. 1
E154757E0Z 2
E154757E03. 3
E154757604 4

Question Number : 51 Question Id : 6154751949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 5z - 39 (2) =41 - 46
(3) &t E TE - v o7 (4) THATEEI -5
Options:

61547576011
E154757E0Z 2
E154757603. 3
B154757604, 4

Question Number : 52 Question Id : 6154751950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Loss of signal power as light travel down the fibre 1s called

(1) Attenuation (2) Propagation
(3) Scattering (4) Interpretation
Options:

E154757605. 1
B154r57E06 2
E154757E07. 3
E154757608. 4

Question Number : 52 Question Id : 6154751950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154757E05. 1
E154757E06. 2
E154757E07. 3
E154757608. 4

Question Number : 53 Question Id : 6154751951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the budget methods emphasizes on 1dentification of program objectives and the

measurement of results?

(1) ZBB (2) Line Budgeting
(3 Item budgeting (4) PPBS
Options:

E154757E059. 1
E154757610. 2
E154757ELL. 3
B154757E12 4

Question Number : 53 Question Id : 6154751951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154757609 1
E154757610 2
E154757611. 3
B154r57E12 4

Question Number : 54 Question Id : 6154751952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘Indian Library Review’ 1s a blog of

(1) TASLIC (2) NISCAIR
(3) INFLIBNET (4) National Library of India
Options:

E154757613. 1
6154757614 2
E154757ELE 3
E154757616. 4

Question Number : 54 Question Id : 6154751952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547576131
E154757614 2
E154757615 3
B154r57816. 4

Question Number : 55 Question Id : 6154751953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who was the first Librarian of National Library of India after independence?

(1) E.M. Asadullah (2) D.R. Kaha
(3) B.5. Kesavan (4) Kalpana Dasgupta
Options:

BE154757617. 1
6154757618 2
G154757E19 3
E154757620. 4

Question Number : 55 Question Id : 6154751953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757617 1
E154757E1E. 2
E154757619 3
B154r57820. 4

Question Number : 56 Question Id : 6154751954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who popularzed the term ‘Bibliomama'

(1) Ted Nelson (2) Thomas Frognall Dibdin
(3) George Kingsley Zipf (4) Theodore Besterman
Options:

BE154757621. 1
B154r57e22 2
G154757623 3
E154757624. 4

Question Number : 56 Question Id : 6154751954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154757621.1
E154757622 2
E154757E23. 3
E154757E24. 4

Question Number : 57 Question Id : 6154751955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who proposed ‘General System Theory of Communication'?

(1) Robert T. Craig (2) W.R. Ashby
(3) Shannon and Weaver (4) Ludwig Von Bertalanffy
Options:

E154757625. 1
E154757EZE. 2
B154757627. 3
BE154757628. 4

Question Number : 57 Question Id : 6154751955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1) T A w (2) =59 AR, T
(3) I I = (4) =i I FEFh
Options:

E154757625. 1
E154757EZE. 2
B154757627. 3
BE154757628. 4

Question Number : 58 Question Id : 6154751956 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Haptics” 1s a form of non-verbal communication that uses

(1) Facial expression (2) Touch-to-communicate
(3) Interpersonal space (4) Interpretation of symbols
Options:

BE1547576829. 1
6154757630 2
6154757631 3
6154757632 4

Question Number : 58 Question Id : 6154751956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547576259. 1
B154757630 2
E154757631. 3
E154757632. 4

Question Number : 59 Question Id : 6154751957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following information seeking behaviour model explains the activities wviz

nitiation, selection. exploration. formulation. collection and presentation?

(1) Kuhlthau's Model (2) Ellis' Model
(3) Willson's Model (4) Krkelas Model
Options:

6154757633 1
E154757E34. 2
E154757635 3
E154757636. 4

Question Number : 59 Question Id : 6154751957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

BE154757633. 1
BE154757634 2
6154757635 3
E154757636. 4

Question Number : 60 Question Id : 6154751958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 15 an example of Information Padding™?

(1) Inclusion of a source in the bibliography which 1s relevant to your work and duly
consulted
(2) Inclusion of a source in the biblicgraphy though not consulted. but required for

further reading

(3) Adding of necessarv words or information to a speech or piece of work making the
same more shorter

(4) Adding of gratuitous and 1mpertinent words or information to a work or plece of
writing or speech extraneously making the same more longer

Options:

154757637 1
154757628, 2
6154757629 2
6154757640, 4

Question Number : 60 Question Id : 6154751958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=fataa 9 9 ECEl W+ (Information Padding) =1 92/ g0 27
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Options:
6154757637, 1
6154757638 2
6154757639, 3
6154757640, 4

Question Number : 61 Question Id : 6154751959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which digital hbrary software was developed at Cornell University?

(1) FEDORA (2) E-Prints
(3) GSDL (4) D-Space
Options:

51547576411
6154757642 2
6154757642 3
E154757644, 4



Question Number : 61 Question Id : 6154751959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  FsM (2) 3. fem
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Options:

6154757641 1
E154757642 2
BE154757643 3
B154r57644. 4

Question Number : 62 Question Id : 6154751960 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Under RRRLF Financial Assistance Matching scheme, assistance 1s shared on matching
basis between RRRELF and developed States as per the given ratio

(1) 70 : 30 (2) 60:40
(3) 90 : 10 (4) 50:50
Options:

5154757645 1
6154757645 2
E154757647. 3
E154757E45. 4

Question Number : 62 Question Id : 6154751960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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% 9 GHeH S9N W FEfERgd § 5w s 9 ®e 5w ¢

(1) 70 : 30 (2) 60:40
(3) 90:10 (4) 50:50
Options:

5154757645 1
6154757645 2
6154757647 3
E154757E45. 4

Question Number : 63 Question Id : 6154751961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Umniversal Bibliographic Control and International MARC (UBCIM) 1s a core activity of

(1) IFLA (2) UNESCO
(3) OCLC (4) ALA
Options:

6154757649 1
E154757650. 2
E154757651. 3
B154r57E52. 4

Question Number : 63 Question Id : 6154751961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547576459 1
6154757650 2
E154757E51. 3
BE154757E52. 4

Question Number : 64 Question Id : 6154751962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who authored the book entitled ‘Putting Knowledge to work™?

(1) Pauline Atherton (2) Herman M. Welsman
(3) S.C. Bradford (4) J.5. Brown
Options:

E154757E53. 1
E154757654 2
BE154757E55 3
B154757E56. 4

Question Number : 64 Question Id : 6154751962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154757653 1
E154757654. 2



E154757655 3
B154757E56. 4

Question Number : 65 Question Id : 6154751963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which Network protocol 1s involved 1n the execution of ping?

(1) TCP (2) ARP
(3) ICMP (4) BOOTP
Options:

E154757E57. 1
6154757658 2
E154757E50. 3
E154757660. 4

Question Number : 65 Question Id : 6154751963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  omE = vA 4) s Ad
Options:

E154757E57. 1
E15475765E. 2
BE154757659. 3
E154757660. 4

Question Number : 66 Question Id : 6154751964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
CANMARC and US-MARC are merged together with

(1) CCF (2) UNIMARC
(3) UK-MARC (4) MARC-21
Options:

61547576611
E154757662. 2
E154757EES. 3
E154757664. 4

Question Number : 66 Question Id : 6154751964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) HHTF 2 FrmE
(3) IFHuH (4) = - 21
Options:

6154757661, 1
E154757EEZ. 2
BE154757EES. 3
B154r57664. 4

Question Number : 67 Question Id : 6154751965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Patent information system 1s located at

(1) Kanpur (2) Lucknow
(3) Nagpur (4) Hyderabad
Options:

E154757EES. 1
E154757EEBE, 2
E154757EEY. 3
BE154757E60. 4

Question Number : 67 Question Id : 6154751965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

0 [ = —- L. e
UZed HoOAT Tl el -G = ¢

(1) EJREU (2) ===
(3 AT (4) FETEm
Options:

BE154757665. 1
BE154757EEE. 2
B154r57E6Y. 3
E15475766E. 4

Question Number : 68 Question Id : 6154751966 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

What 1s "Epilogue’ in a thesis?

(1) First Chapter (2) Final Chapter
(3) Title Page (4) Appendix

Options:



E154757665. 1
B154r57670. 2
B154r57671. 3
E154757672 4

Question Number : 68 Question Id : 6154751966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foredt oy ey O ‘SumER =T R7

(1)  Te=T 5=HE (2) HAEH A=A
(3)  E IS (4) witRET=
Options:

E154757669. 1
B154757670 2
B154r57671. 3
G154757E7E 4

Question Number : 69 Question Id : 6154751967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

‘Index Indiana’ 1s

(1) An index to Indian language periodical literature
(2) An 1ndex to hibrary science literature only
(3) An index to Enghish Language literature

(4) An index to Reference material

Options:

6154757673 1
6154757674 2
6154757675 3
154757676 4

Question Number : 69 Question Id : 6154751967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1) e T s we s
(2) e AUTEE A HEe 1 SEEE O
(3) sl WTE meca T STEAiE
(4)  T=d TEd s

Options:



B154757673. 1
B154r57e74 2
B154r57675 3
E154757E7E. 4

Question Number : 70 Question Id : 6154751968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Conservative, moderate and hiberal theories of reference service are propounded by

(1) S.R. Ranganathan (2) James I. Wyer
(3) W.A. Katz (4) Kmshan Kumar
Options:

E154757677. 1
E154757E7E. 2
B154757679 3
E154757680. 4

Question Number : 70 Question Id : 6154751968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T2 TET F EedEl, 996 A0 320 W e TaaTEd e

(1)  wH. #AR, THEEE (2) SEH R, AR
(3) gecd. U FHlgH (4) = FAW
Options:

B154757e77. 1
B154r57678. 2
G154757E79. 3
6154757680, 4

Question Number : 71 Question Id : 6154751969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s an example of ‘'microblogging™?

(1) Word press (2) Blogspot
(3) Live journal (4) Twitter
Options:

6154757681 1
E154757E82. 2
E154757683. 3
E154r57884. 4

Question Number : 71 Question Id : 6154751969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



feAfeTfian § © =i |1 ATSH AT = 5T ?

(1) F=7m (2) =T
(3)  wTEIEe (4) ==
Options:

E154757E81. 1
BE154757E82. 2
E154757683. 3
E154757654. 4

Question Number : 72 Question Id : 6154751970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
"Research 1n Progress’ database developed by INFLIBNET 1= known as

(1) Vidyamidhi (2) Shodhganga
(3) Shodhgangotri (49) NDL
Options:

E154757E85. 1
E154757686. 2
B154r57E87. 3
E154r57680. 4

Question Number : 72 Question Id : 6154751970 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HiFereHZ 2 FHiEe seEm TEmE = umE Fee B o

(1)  Tagg (2) wIEEn
(3)  =E T (4) wWITH
Options:

6154757685, 1
E154757E8E. 2
E154757E87. 3
E154r57680. 4

Question Number : 73 Question Id : 6154751971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following consortium supports e-resources exclusively for health sciences?

(1) CeRA (2) HELINET
(3) FORSA (4) NERC
Options:

E154757689. 1
6154757630 2



E154757691. 3
B154r57692 4

Question Number : 73 Question Id : 6154751971 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i~

=1 4 @ ®E-w 5y S-gET % HEA e 2w e GEeE o+ o 2

(1) HEsmu @2 e
(3) W (4) ™ F FE
Options:

E154757689. 1
E154757690 2
E154r57631. 3
G154757632. 4

Question Number : 74 Question Id : 6154751972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

INFOTERA 1s a global environmental information network of

(1) UNDP (2) UNISIST
(3) UNEP (4) OECD
Options:

E154757633. 1
E154757E94 2
E154757695 3
BE154757696, 4

Question Number : 74 Question Id : 6154751972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

.--. o~ ﬁﬁ{?‘-,‘. ;F_'.,_,_,.J r,- i | Tj_;[ﬁ‘:'

Iy FoaIrd (2) T
3 FmAzd 4) =i
Options:

BE154757653 1
B154r57e94 2
61547576885 3
E154757636. 4

Question Number : 75 Question Id : 6154751973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the name of ‘Editor-in-Chief * of Dewey Decimal Classification and Relative index
Edition 23

(1) P. Green (2) J.Martin
(3) Joan S. Mitchell (4) A.Kent
Options:

E154757697. 1
6154757638 2
E1547578909 3
E154757 700 4

Question Number : 75 Question Id : 6154751973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1 i d= (2) =, =it
(3) =i vH. e (4) U e
Options:

B154757697. 1
E154757638. 2
E1547576399 3
E154757 700, 4

Question Number : 76 Question Id : 6154751974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Dublin Core Metadata Element set version 1.1 consists of

(1) Fifteen elements (2) Eighteen elements
(3) Twenty elements (4) Twenty two elements
Options:

E154757701.1
B154757 702 2
B154757703 3
B154r57704 4

Question Number : 76 Question Id : 6154751974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SHie =i HETSTEl Usiie 62 a1 1.1 | 7niae 7 -

(1) 5= ad (2) T=TE T
(3) Fwa= (4) =TEHE 79
Options:

E154757701. 1



B154757 702 2
B154r57703 3
B154r57704 4

Question Number : 77 Question Id : 6154751975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who introduced the term ‘Literary Warrant™

(1) S.R. Ranganathan (2) Wyndham Hulme
(3) Melvil Dewey (4) J.D. Brown
Options:

B154757705. 1
E154757706 2
E154757 707 3
BE154757708. 4

Question Number : 77 Question Id : 6154751975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tt A s 1 3w I R A

(3) Tt S (4) .30 "=
Options:

BE154757705. 1
B154757706 2
E154757707. 3
E154757703. 4

Question Number : 78 Question Id : 6154751976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ISBD was created and 1s maintained by

(1) OCLC (2) UNESCO
(3) IFLA (4) Librarv of Congress
Options:

B1547577059. 1
6154757710 2
6154757711 3
E15475771Z 4

Question Number : 78 Question Id : 6154751976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) =17 =5t o = (2) T
(3) T UE UH U () (4) =EEHI ATF FEE
Options:

E1547577039. 1
E154757710. 2
B154757711. 3
B154757712 4

Question Number : 79 Question Id : 6154751977 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In unuversal decimal classification (Abridged English 3™ edition) symbol “...” indicates

(1) Relation sign

(2) Common auxiliarmes of place
(3) Common auxiharies of Race and Nationality
(4) Common auxiliaries of Time

Options:

E154757713. 1
6154757714 2
E154757715 3
B154757716. 4

Question Number : 79 Question Id : 6154751977 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

mﬁmmmuﬁmwﬁﬁﬂﬁqm)qm _________ " o S T 27
() &g ==

(2) T T HH JHEEE

(3)  UANA R UEEAT F AEE GE5EE

(4 THT F A TR
Options:
61547577131
6154757714 2
6154757715 2
6154757716 4

Question Number : 80 Question Id : 6154751978 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Yes

Yes

Yes



According to S.R. Ranganatan “Wherever telescoping of array 1s done. the canon of Hierarchy
15 violated. This violation 1s deliberately done to satisfy

(1) Law of Parsimony (2) Law of Local Variation
(3) Law of Symmetry (4) Law of Interpretation
Options:

BE154757717. 1
E154757718. 2
B154757719. 3
B154r57 720 4

Question Number : 80 Question Id : 6154751978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TH, AR, TAA % AT Far i 9fF 5 e 0 G T A, 9 9EEEs & 39 W Ieered wan

21" =7 Teasa S T 1 O e gfd =+ o e e 20

1) fereroafian =1 g (2) wUHE fTaeE w5 5
(3)  TEdliadr #1 T (4) =T A
Options:

B154r57717. 1
6154757718 2
6154757719 3
E154757720 4

Question Number : 81 Question Id : 6154751979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following ‘Change Management Model has three stages namely. unfreezing.
changing and refreezing?

(1) Mary Parker Follett's Model (2) EKurt Lewin's Model
(3 Henry Mintzberg's Model (4) Lillion Gilberth's Model
Options:

E154757721.1
B154757 722 2
B154757 723 3
B154r57 724 4

Question Number : 81 Question Id : 6154751979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1 wftada y9am oisa | s 99 = § 3 - P w5, oiEda i w9 e

(1) o o Fielzg Oiss (2) 2 HAfaH "z
(3) =1 fozsm = gise (4) T oY =1 Aise
Options:

E154757721.1
E154757722 2
E154757 723 3
B154r57 724 4

Question Number : 82 Question Id : 6154751980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following routes 1s ertical in CPM?

(1) Shortest route (2) Longest route
(3) Routes having simple activities (4) Routes having less important activity
Options:

E154757725. 1
E154757726. 2
E154757 727 3
B154757 728, 4

Question Number : 82 Question Id : 6154751980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=i fi wn & fF=fefgs § @ #4910y gEeEg 27

(1) oa% I 9y (2) =& H =8 Ug
(3)  Hm= el e uy (4) H HETEO TR =T 9
Options:

E154757725. 1
E154757 726 2
B154757 727 3
B154757728. 4

Question Number : 83 Question Id : 6154751981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the range for getting Gold level of certification under leadership in Energy and
Environmental Design (LEED)?

(1) 40 - 49 (2) 50 -39
(3) 60 -79 (4) 80+

Options:



B154757729. 1
B154r57730 2
6154757731 3
E154757732 4

Question Number : 83 Question Id : 6154751981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TSI 3 U= U0 SAAEAC (S (U § 3 21 F Sid T T % A S U B 19 9 A 7

(1) 40-49 (2) 50-59
(3) 60 -79 (4) 80+
Options:

B154r577259. 1
6154757730 2
E154757731. 3
E154757 732 4

Question Number : 84 Question Id : 6154751982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In data transfer process. which of the following 1s used for strengthening the signals

(1) Firewalls (2) Hubs
(3) Switching packets (4) Repeater
Options:

B154r57733. 1
6154757734 2
6154757735 3
E154757736. 4

Question Number : 84 Question Id : 6154751982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATHST = TR 1 AT § HEengd 5 FRE S T S S S S o T R ST R

(1) ARG (2) =4
(3)  Term T (4) frfrez
Options:

BE154757733. 1
B154757734 2
B154r57735 3
E154757736. 4

Question Number : 85 Question Id : 6154751983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The method of communication in which transmission takes place in both the directions. but
only 1n one direction at a tume 1s called

(1) Simplex (2) Full Duplex
(3) Half Duplex (4) Two-wire Circuits
Options:

B154757737. 1
B154757738. 2
E154757739 3
E154757740 4

Question Number : 85 Question Id : 6154751983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HU i 3 UM B Bl FAT 2 CAEH IR0 3F1 e § 261 2 wWed U6 999 T U Al {5
2T 77

(1) Terorers @ T :c:m:ﬂ:r
(3) =% S (4) 7 TPE "R
Options:

BE154757737. 1
B154757738. 2
B1547577359. 3
6154757740 4

Question Number : 86 Question Id : 6154751984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following technologies use electronic waves at radio frequency for data
transmission?

(1) Li-fi (2) Wi-fi
(3) Optical cables (4) Twisted pairs
Options:

E154757741. 1
E154757742 2
E154757 743 3
B154757 744 4

Question Number : 86 Question Id : 6154751984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fAfeAtigd § ® 9 i SR RS % IR0 o {7 TSl IgEE] W SeiaZ el ol 1 W= Hdl B 7

(1)  EE-wE (2) =E-wE
(3) e Faed (4) Tfes e
Options:

61547577411



B154757 742 2
B154r57743 3
B154r57 744 4

Question Number : 87 Question Id : 6154751985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which layer of the OSI Model 1s mostly concerned with the syntax of the data?

(1) Session layer (2) Presentation layer
(3) Network layer (4) Data link layer
Options:

E154757745. 1
E154r57 746 2
B154r57747. 3
G154757748. 4

Question Number : 87 Question Id : 6154751985 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

31 TH A WSH o (8 T o 99 ATaHar S o aEaE § BT B 7

(1) #IER (2) T =W
(3) s =W (4) = o =
Options:

6154757745 1
E154757 746 2
E154757 747 3
B154r57748. 4

Question Number : 88 Question Id : 6154751986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following devices 1s used to connect different network segments and manage the
traffic between them?

(1) Switch (2) Gateway
(3) Bridge (4) Repeater
Options:

E1547577458. 1
B154757750 2
BE154757751 3
B154r57 752 4

Question Number : 88 Question Id : 6154751986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



fatir 92a @S =1 Fe4 & (@0 991 399 =00 =asy] & fofw 9 0 " wH o (SaeE F wEe e Sm

77
(1) == (2) T=d
(3) o= (4) iz
Options:

B1547577459 1
6154757750 2
E154757751. 3
B154757 752 4

Question Number : 89 Question Id : 6154751987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Physical arrangement of computers in a Network 1s called

(1) Topology (2) Routing
(3) Bandwidth (4) Switching
Options:

61547577521
E154757 754 2
E154757755 3
B154r57756. 4

Question Number : 89 Question Id : 6154751987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Rt ek o Foget i difes s = Fad 2

(1)  ZmrErs (2) st

(3) si=fay (4) Teaf=m
Options:

B154757753. 1
B154r57754 2
6154757755 3
E154757756. 4

Question Number : 90 Question Id : 6154751988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ex-Libris 1s an example of which type of cloud computing?

(1) Software as a service (2) Infrastructure as a service
(3) Platform as a service (4) Network as a service
Options:

E154757757. 1



BE154757 758 2
B154r577559 3
B154r57760. 4

Question Number : 90 Question Id : 6154751988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T-Teafsrm fFm w=hm % FeA13s Fogfan =1 vk SeErm 20

(1) =91 % =9 ° JFa51 (2) HaT % TG H AU
(3) T F =7 H wIFH (4) =T E=O H 429
Options:

B154757757. 1
6154757758 2
E154757758. 3
E154757 760 4

Question Number : 91 Question Id : 6154751989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the electronic depository in which Librarians of the participating institutions have
the rmght to put their words in managing the depository

(1) Portico (2) LOCKSS
(3) CLOCKSS (4) PubMed
Options:

E154757761. 1
E154757 762 2
E15475776S. 3
B154757 764 4

Question Number : 91 Question Id : 6154751989 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

36 ez E (feuifsdl) =i weam Fitn e afauarlt SemT & qeasras i HEy % uEue o

(1)  wifes (2) wFE
(3) T (4) u=HS
Options:

61547577611
E154757762 2
E1547577ES. 3
B154757 764 4

Question Number : 92 Question Id : 6154751990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



KB e-depot 1s maintained by

(1) National Labrary of India (2) National Labrary of Netherland
(3) National Library of Germany (4) Library of Congress. USA
Options:

61547577651
E154757 766, 2
B154757 767 3
B154r57760. 4

Question Number : 92 Question Id : 6154751990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

F # = - 20+ TErEE s g e s 2

(1)  odE TgE 9aeE (2) e SEEt] AT HEEs
(3) T wEHA HE Al (4) TEHT STF i, 70T,
Options:

BE154757765. 1
B154r57766. 2
B154r57767. 3
E154757768. 4

Question Number : 93 Question Id : 6154751991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Bibframe 2.0 orgamses bibliographic information into three core levels of abstraction. Choose
the correct answer from the options given below

(1) Work, Instance, Item (2) Work, Item. Agents
(3) Work. Agents. Events (4) Events, Instance, Subjects
Options:

6154757769 1
E154757770 2
B154757771. 3
B154r57 772 4

Question Number : 93 Question Id : 6154751991 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o 2.0 TG g=A1 1 @ % d9 ge T 9 @i war 2| A 5 et @ wd o
1) T, 32M, 15 (2) T=AT, °2, AfuEA
(3) =, AAfiERat, T (4) =z, T2, T

Options:

BE154757765. 1



B154757770 2
B154r57771. 3
B154r57 772 4

Question Number : 94 Question Id : 6154751992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The g-index was proposed by

(1) Jorge Hirsch (2) Bill Smith
(3) Leo Egghe (4) Olle Persson
Options:

E154757773. 1
E154757 774 2
B154757775 3
B154r577 76 4

Question Number : 94 Question Id : 6154751992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S-z=eE w UlaTEE FE B

(1) s e (2) fo= fm
(3) &= == (4) =9I
Options:

E154757773. 1
E154757774 2
E154757775 3
B1547577 76 4

Question Number : 95 Question Id : 6154751993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

There 1= no significant difference 1n the proportion of male and female ibrarians in the study
population” 1s an example of

(1) Hypothesis of point prevalence (2) Null-hypothesis
(3 Hypothesis of association (4) Hypothesis of difference
Options:

B154757777. 1
E154757778 2
E154757779. 3
E154757 780 4

Question Number : 95 Question Id : 6154751993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  =E=E I U (4) oz =i gl
Options:

B154757777. 1
E154757778 2
E154757778. 3
E154757 780 4

Question Number : 96 Question Id : 6154751994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a techmigue of non-probability sampling?

(1) Judgemental sampling (2) Simple Random Sampling
(3) Stratified Random Sampling (4) Cluster Sampling
Options:

B154r57781. 1
B154r57 782 2
6154757783 3
6154757754 4

Question Number : 96 Question Id : 6154751994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafeatiad o & A AR FEeH a2

(1) e e (2) =W FEfaF e
(3) I AE=a® HEH (4) TgFEg FETE
Options:

E154757781.1
E154757782 2
E154757 783 3
BE154757 784 4

Question Number : 97 Question Id : 6154751995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Altmetric’ 1s not related to

(1) A record of bibliographic data on a subject
(2) A record of attention
(3) A measure of dissemination

(4) An indicator of influence and 1mpact



Options:

6154757785 1
E154757786. 2
E154757787. 2
6154757788, 4

Question Number : 97 Question Id : 6154751995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At fe wef T 2

(1) Tl faug = a9ws o 0Fs
(2)  ©IH F o

(3)  TEE H A

(4)  T9E AT TR THaE

Options:
B154757755. 1

E154757 786 2
B154r57787. 3
B154r57 780, 4

Question Number : 98 Question Id : 6154751996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who 1s the creator of ‘R’ statistics?

(1) Dale H. Bent and H.E. Garrett (2) Norman H. Nie and C. Hadlai Hull
(3) Ross Inaka and Robert Gentleman (4) Harold Cramer and John Chambers

Options:

6154757789 1
6154757790 2
6154757791, 3
6154757792 4

Question Number : 98 Question Id : 6154751996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
.'-_j:ﬂTq _‘_.ﬁg_p_rﬁ % J.’r.} - -;- ';,.'".l'?

(1) =0 v= &= 31 U9 5. T @) A v, s o aeeE =
(3) ™ =T AR Tae SaeriH (4) FOFE FHW T T4 I=H
Options:

E1547577859. 1



B154757 730 2
B154r5773l 3
B154r57 792 4

Question Number : 99 Question Id : 6154751997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Annual publication. listing a set of events forthcoming in the next year 1z known as

(1) Almanac (2) Yearbook
(3) Directory (4) Handbook
Options:

E154757733. 1
6154757734 2
E154757 795 3
E154757 796, 4

Question Number : 99 Question Id : 6154751997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T A9 0 B JA G2 % TS AR AT A TN el 7

(1) 9= (#=5F) (2) T=F
(3) CAME (4) TrEmEs gETm (F2 9)
Options:

B154757793. 1
B154r577a4d 2
G154757735 3
E154757736. 4

Question Number : 100 Question Id : 6154751998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
An attempt to make a computer resource unavailable to 1ts intended user 1s called

(1) Denial-of-service attack (2) Virus attack
(3) Worm attack (4) DBot-net attack
Options:

E154757797. 1
E154757 798 2
B154r577959 3
E154757E00. 4

Question Number : 100 Question Id : 6154751998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) =8 372% F1 =9 (2) === HE

i

(3)  aH 1w (4) @72 ITH

Options:

6154757797
E154757 798,
6154757799,
6154757800,

e IR

Question Number : 101 Question Id : 6154751999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which are the factors responsible for deterioration of Library Materials?

(1) Biological Factor
(11) Electromagnetic Factor

(1) Chemical Factor
(1v) Environmental Factor

Choose the correct answer from the options given below :

(1) (1), (11) and (1v) are correct (2) (). (1) and (iv) are correct
(3) (11). (11) and (1v) are correct (4) (1), (1) and (11) are correct
Options:

51547578011
E154757E0Z 2
6154757803 3
E154757804, 4

Question Number : 101 Question Id : 6154751999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ET)

TEAFE A F B % o FE ° wE I f o

@  difaw wuw
(i) o=@ 99E FEF

(i)  TEETE FEF

(iv) AT

(L) (). (i) 37 (iv) 971 7 2) (), (iil) T Gv) 55 7
(3) (). (ii1) #R (iv) T& 7 (4) (). (1) 37 (ii1) 5H1 2
Options:

61547575011
E154757802 2
BE154757803. 3
B154757804, 4

Question Number : 102 Question 1d : 6154752000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the following are the editors of ALA Glossary of Library and Information Science
Fourth Edition?

(1) Michael Levine — Clark
(11) Philip Babcock Gove
(1) Tomi M. Carter

(1v) L.M. Harrod

Choose the correct answer from the following options :

(1) (1) and (11) are correct (2) (u) and (i) are correct
(3 (1) and (111) are correct (4) (1) and (1v) are correct
Options:

E154757805. 1
E154757806. 2
E154757807. 3
E154757808. 4

Question Number : 102 Question Id : 6154752000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feAfciaa o @ =i e Ud gEA1 b il U U U TS & 5OEE f

(i) HIsHhel S —delTeh
(i)  THfT s=FF T
(i) = o

iv) TA.TH, IS

(1) (1) 31 (i) = = (2) (i) 3 (iii) =E 3
(3) @) (i) T E @) @) 3 (iv) 7 E
Options:

E154757805. 1
E154757B06, 2
E154757807. 3
BE154757808. 4

Question Number : 103 Question Id : 6154752001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the former Librarans of National Library of India from the names given below
(1) D.N. Banerjee

(11) Kalpana Dasgupta

() R.K. Dasgupta

(tv)  K.M. Asadullah

Choose the correct answer from the following options :

(1) (1) and (11) are correct (2) (1) and (1v) are correct
(3) (1) and (111) are correct (4) () and (1v) are correct
Options:

BE154757809. 1
6154757810 2
6154757811 3
6154757812 4

Question Number : 103 Question Id : 6154752001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Hi= f2u o AW ¥ 9ndE UPE T § U ARl S eaE o
(1) .79 ]

(11) T ]

(iii) @R %, T
(iv) .U FHge

@ @R (2) (i) #N (iv) 781 2
@ QARG (4) (iii) ¥ (iv) TF F
Options:

E154757805. 1
E154757810 2
6154757811 3
E154757E1Z 4

Question Number : 104 Question 1d : 6154752002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the services of OCLC from the following
(1) Infoport
(11) OJAS
(1)  First search
(1v) Question point

Choose the correct answer from the following options :

(1) (1) and (11) are correct (2) (1) and (1v) are correct
(3) (1) and (111) are correct (4) (m) and (1v) are correct
Options:

515475758131
61547575814 2
6154757815 3
E15475781E. 4

Question Number : 104 Question Id : 6154752002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) R

(2)  A=H

(3) F=Ed

()  FEvEA =L

frfafias fasedl @ w81 390 =4

1) (@R @)= =2 (@) (i) = (iv) = 2
@ () (i) 7 (@) (i) iR Giv) T 3
Options:

E154757813. 1
E154757814 2
6154757815 3
G154757E16. 4

Question Number : 105 Question Id : 6154752003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the high-level classes or entities in the BIBFRAME model?
(1) Work
(11) Instance
(m) Item
(iv)  Author

Choose the correct answer from the following options :

(1) (1). (11) and (111) are correct (2) (1), (1) and (1v) are correct
(3) (1), (1n) and (1v) are correct (4) (m), (1) and (1v) are correct
Options:

E154757817. 1
6154757818 2
E154757818. 3
E154757820. 4

Question Number : 105 Question Id : 6154752003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =

@) z=m

(1) H9

(iv) &@®

D @), ) 3R D @ (), () ¥ Gv) =3

(3 (). (i) A (iv) 7 7 4) (i), (i) 3% (iv) = 3
Options:

E154757817. 1
6154757818 2
E154757819. 3
E154757820. 4

Question Number : 106 Question Id : 6154752004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The UK Committee on RDA (UKCOR) aims to :

(1) Represent the interests of LIS professional community of third world countries with
regard to RDA

(11) Contrbute to the RDA development program and to the maintenance and governance
of RDA

(i)  Ensure that representatives of the RDA European region are briefed on the position of
the UK Community regarding all aspects of governance, development and
maintenance of RDA

(tv)  Support implementation and development of RDA 1n UK
Choose the correct answer from the following options :

(1) (1). (i1) and (1i1) are correct (2) (u), (1) and (1v) are correct
(3) (1). (1n) and (1v) are correct (4) (1). () and (1v) are correct
Options:

61547578211
E154757822 2
E154757823. 3
E154757824. 4

Question Number : 106 Question Id ;: 6154752004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1)  @N.ELT. F 9 FEHE, TETEE vE FEE § e 1

(i) =% FHfTe F F AR TdE #F F AAEE F 3%, 995 F 97 § RDA # Tefag
=1, T 9 TE0Ed o Ol 981 o =g °§ JEEE 2 A0

(iv) 7. 9 ANE.0 % T si fawm =1 gme )
fAferfias fompeat & 4 w81 370 =4

(1) (1), (1) R (iii) ==1 = (2) (i), (iil) 3T (v) T8t 2
(3) (). (i) W (iv) TA 7 (4) (). (i) FR (iv) 78 3
Options:

B154757821.1
E154757822 2
6154757822 3
E154757824. 4

Question Number : 107 Question Id : 6154752005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the points related to Edward Deming’s 14-points philosophy of TQM
(1) Fair Wages
(11) Division of Labour
(1) Break Down Barriers
(1v) Eliminate Exhortation
Choose the correct answer from the following options :

(1) (111) and (1v) are correct (2) (1) and (11) are correct
(3) (1) and (1) are correct (4) (1) and (1v) are correct
Options:

E154757825. 1
E154757826. 2
B154r57827. 3
B154757828. 4

Question Number : 107 Question 1d : 6154752005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(ii1) =9 SToHae FaaH

(iv)  TEIEAl = A
dr= fau 7 faen © w9 3 =9

(1) (i) #W (iv) @2 7 @) @) 3 (i) 78 3
@ O @)= @) @) s Gv) 7 3
Options:

E154757825. 1
E154757826. 2
B154r57827. 3
B154757828. 4

Question Number : 108 Question 1d : 6154752006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Duraspace provides cloud-based services related to

(1) D-space

(11) New(Gen Lib

() E-Prints

(iv)  Fedora Commons

Choose the correct answer from the following options :

(1) (1) and (1) are correct (2) (1) and (111) are correct
(3) (111) and (1v) are correct (4) (1) and (1v) are correct
Options:

BE154757829. 1
6154757830 2
6154757831 3
6154757832 4

Question Number : 108 Question Id : 6154752006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =-foem

(iv) TSR FHH
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(1) @ R @) = 2 @ (i) #i (i) =8 #

(3)  (iil) ¥R Gv) == 7 4) (@) 3T (v) 7E F
Options:

BE154757829. 1
6154757830 2
6154757831 3
E154757832. 4

Question Number : 109 Question Id : 6154752007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following steps are involved in the selection of documents for digitization?
(1) Checking for copyright
(11) Checking the research significance of the document
(1)  Checking for price
(1v) Checking the condition of document

Choose the correct answer from the following options :

(1) (1). (1) and (111) are correct (2) (1), () and (1v) are correct
(3) (1). (11) and (1v) are correct (4) (1). (1m1) and (1v) are correct
Options:

E154757833. 1
B154r57834 2
6154757835 3
E154757836. 4

Question Number : 109 Question Id : 6154752007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i)  WeE F I B R H A

(i) TFF I =

(iv) wemg =1 fealE i 9=

= 2w o ferpeg | § HEl 3T ::DC—IT!. :

1) @. @) AT @) 7 2 @) (). (i) = @Gv) 75 3

(3) (). (il) 37 (iv) =7 = (4)  (i1). (ii1) 377 (iv) TF1 7
Options: '

BE154757833. 1
BE154757834 2
6154757835 3
E154757836. 4

Question Number : 110 Question Id : 6154752008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are Reference Style Management tools?
(1) Stata

(11) Ref works

(m1) Mendeley

(iv)  Zotero

Choose the correct answer from the following options :

(1) (1). (1) and (1) are correct (2) (m), () and (1v) are correct
(3 (1) and (1) are correct (4) (1) and (1v) are correct
Options:

B154757837. 1
6154757838 2
6154757839 3
E154757540. 4

Question Number : 110 Question Id : 6154752008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =2
(i)  TFEaTE
(i)  T=A
(v)

= f2u T faey 7 9 oF 3 gh

0. @) () 7 @ ), i) 3 () 7 3
@) O ¥ @) @ @ Gv) T E
Options:

E154757837. 1
6154757838 2
E154757839. 3
E1547575840 4

Question Number : 111 Question Id : 6154752009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the publication years of different editions of AACR

(1) 1967

(11) 1970

() 1978

(1v) 1988

Choose the correct answer from the following options :

(1) (1). (1) and (1v) are correct (2) (1). (u) and (11) are correct
(3) (11). (1) and (1v) are correct (4) (1), (in) and (1v) are correct

Options:

E1547575841. 1
E154757842 2
B154757843 3
6154757544 4

Question Number : 111 Question Id : 6154752009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U T AR % afae SR & T 9 TeeTe

(1) 1967
(11) 1970
(i) 1978
(iv) 1988

T2 fau T fawew 7 o I g

(1) @, (1) AT Gv) T 7 (2) (). (ii) =T (ii1) =2 &
(3)  (i1). (ii1) 317 (iv) =1 7 (4) (D). (ii1) 31 (iv) 781 =
Options:

515475758411
6154757842 2
61547575842 3
E1547575844. 4

Question Number : 112 Question Id : 6154752010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are network protocols?

i  UDP
(i)  SMTP
(i) TCP

(1v) Telnet

Choose the correct answer from the following options :

(1) (1). (1) and (1v) are correct (2) (n), () and (1v) are correct
(3) (1). (111) and (1v) are correct (4) (1). (11) and (1) are correct
Options:

E154757845. 1
E15475784E 2
B154r57847 3
E154757548. 4

Question Number : 112 Question 1d : 6154752010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fr=fafian 9 & Fi9 S e & 7
SV - i
(@ TEEEA
i) A=A
(iv) 22

e fou T fopew @ w3 9w
1) @. () 3R Gv) 77 F (2) (@), (1) 377 (Gv) TE 7
(3) (). (i) =R (iv) = 7 @) (). (i) = (iil) =& 2



Options:

6154757845 1
£154757346. 2
E154757847. 2
6154757848, 4

Question Number : 113 Question Id : 6154752011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of ‘Information Encountering’ (IE) was introduced in the domain information
behaviour literature by Sanda Erdelez 1n 1997. where she proposed a conceptual framework

for facilitating systematic study of IE. Identify the three key elements proposed by Erdelez in
her study

(1) Characteristics of the information user

(11) Characteristics of information seelking habit
(m) Characteristics of information environment
(1v) Characteristics of encountered information
Choose the correct answer from the following options :

(1) (1). (1) and (1v) are correct (2) (), (n) and (1v) are correct
(3) (1). (11) and (111) are correct (4) (1), () and (1v) are correct
Options:

51547575845 1
6154757850 2
6154757851, 3
E154757852. 4

Question Number : 113 Question Id : 6154752011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
I AEER A1Ecd & 89§ gEA AW-EEAT (378 §) F SEeqar 1 fduied de] user 4 1997 |
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(1) T T S e

(i)  HE G G S

(1)  FEA afEE =i fEEa
(iv)  STHAT-HEAT 5 g 6 faerea

e fou e famren @ T faepen g

(1) (D). (i) 377 (Gv) T8 7 (2) (i), (iil) 37 @v) 981 2
(3 (). (i) 3 (i) 7F 7 (4) (. (i1) 37 @v) 74 2
Options:

E15475758459. 1
B154757850. 2
6154757851, 3
6154757852 4



Question Number : 114 Question Id : 6154752012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following are not the publications of Mimistry of Information and Broadcasting,
Government of India

(1) Economic and Political Weekly
(11) University News

(1) Yojana

(tv)  Vigyan Pragati

Choose the correct answer from the following options :

(1) (1). (11) and (111) are correct (2) (1). (i11) and (iv) are correct
(3) (1). (11) and (1v) are correct (4) (1), (m1) and (1v) are correct
Options:

BE154757853. 1
6154757854 2
6154757855 3
6154757856, 4

Question Number : 114 Question Id : 6154752012 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=fafaa 8 5 F19 g1 317 TR 56, 969 5T F TR T6 6
i)  FEEEE =T
(i) =T
(iv) Tae= T

i fo7 ™ fawen ¥ = = 9

1) (). (i) ¥R (i) 7 2 (@) (@), (iii) 377 (v) 75 =
(3) @), (i) ¥ (iv) 77 2 (4) (i), (iii) =7 (iv) T 2
Options:

E154757853. 1
61547575854 2
E154757855 3
BE154757856. 4

Question Number : 115 Question Id : 6154752013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following Library Associations according to ascending order of their year of
establishment

(1) IFLA

(11) SLA

(u) CILIP

av) ALA

Choose the correct answer from the following options :

(1) (1v). (). (1), (1) (2)  (u). (). (1). ()

(3) (). (). (ii). (iii) (4) (i), (D). (iv). @)
Options:

61547578571
E154757858. 2
E154757859. 3
E154757860. 4

Question Number : 115 Question Id ;: 6154752013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FAtaias s T9 F T T 99 F fBue § AW #4 § A -
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@ THTET

(i) = 0 v s o (fafem)

v) T©TETE
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(1)  (@v), (i), (1). (iil) (2) (@@). @v), (1), (111)
(3) (Iv). (1), (1), (111) (4) @u). (1), av). (1)
Options:

BE154757857. 1
6154757858 2
6154757859 3
6154757860, 4

Question Number : 116 Question Id : 6154752014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following States 1n ascending order of the vear of enactment of their respective
public Library Acts

(1) Kerala

(11) Chattisgarh

(m) Goa

(1v) Uttarakhand/Uttaranchal

Choose the correct answer from the following options :

(1) (1). (111), (1v). (11) (2) (1), (). (1). (av)
(3) (1v). (1). (11). (111) (4) (11). (av). (1). (1)
Options:

515475758611
E154757E62. 2
E154757863. 3
6154757564 4

Question Number : 116 Question Id : 6154752014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fAfatEs =91 F1 % TEAEE TAEeE AHEET F AEEE 99 % 3WE F 1 A -
@  F

@  BHETE

@i T

(iv) ITEs/IwEA

= 8 9 o5 3T W 999 o -

(1) (D). (iid), (iv), (i) (2) (), (1mi). (@). 1)
(3) (v (D). (11), (ii1) (4) @u). av). (1). ()
Options:

E154757861. 1
E154757862. 2
E154757863. 3
E154757 564, 4

Question Number : 117 Question 1d : 6154752015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following information networks according to their yvear of launching
(1) NICNET

(11) NEN

(1) INFLIBNET

(tv)  ERNET

Choose the correct answer from the following options :

(1) @), (@), @), av) (2) (1), (v), (ii1). (i)
(3) (i), (v). (). () @) (@), (i), Gi). (iv)
Options:

61547575865 1
E15475786E. 2
E15475786Y. 3
E154757860. 4

Question Number : 117 Question Id ;: 6154752015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FATATEd =T H2ahi %1 399 T 99 % 39 F9 § fonan -
@)  UF W H A

@) EH

(i) Al

(1v) T

= O O 98 39 %1 999 -

(1) (), (). @). av) (2) (D). (iv). (1ii). (i)
(3) (), av). (1), @) (4) (1), (). ({1). (1iv)
Options:

E154757865. 1
E15475786E. 2
B154757867. 3
E154757 568, 4

Question Number : 118 Question 1d : 6154752016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The UK Commuttee on RDA (UKCOR) 1s supported by

@)  CILIP
(11) The British Library
(1) OCLC

(iv) UNESCO

Choose the correct answer from the following options :

(1) (1) and (111) are correct (2) (1) and (1v) are correct
(3) (1) and (1v) are correct (4) (1) and (1) are correct
Options:

BE154757869. 1
B154757870 2
6154757871 3
E154757872 4

Question Number : 118 Question Id : 6154752016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A7 U (F F W 3 AW) W g%, gfufa = Fefoiaa 5 o e gr wmes 3 e 2 e
@ i e v e (fafem)

Gi) T fafen =msd

(i) =7 =i v =

(iv) TR

=3 9 @l 37 o =ET -

(1) (1) =7 (i) =791 2 @) () 3N Gv) 7 E
@ @) () 7R @ @ 3 G T
Options:

E15475786%9. 1
B154757870. 2
E154757E71. 3
E15475787Z 4

Question Number : 119 Question Id : 6154752017 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following publications are excluded from the scope of Indian National
Bibliography?

(1) Maps

(11) Guide to textbooks

(1)  First 1ssue of a new periodical
(1v) Musical scores

Choose the correct answer from the following options :

(1) (1). (11) and (1) are correct (2) (1), ) and (1v) are correct
(3) (11). (111) and (1v) are correct (4) (1). (1) and (1v) are correct
Options:

BE154757873. 1
B154757874 2
B154757875 3
E154757E76. 4

Question Number : 119 Question Id : 6154752017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

fAfefas 8 & =i 8 Tee 9RAE T 09 g o e o F A 2 e

G T

(ii)  WTSA g T TES

(i) 9 HATEEF UEE T IR 5

Gv) e -

freAfeatiga § | 98 39 0 =29 -

1) (D). (@) AT (@) =7 2 @ @), i) 3 Gv) TH 3
(8) (i), (i) R Gv) 7E F @) @), @) 3 (iv) gE 2
Options:

BE154757873. 1
B154r57874 2
6154757875 3
E1547575876. 4

Question Number : 120 Question Id : 6154752018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following are Web-Zine?
(1) Email Magazine

(11) E-conference

(1)  On-line Bulletin

(1v) Electronic News Letter

Choose the correct answer from the following options :

(1) (1). (1) and (1v) are correct (2) (1), (1) and (1) are correct
(3) (11), (111) and (1v) are correct (4) (1), (1) and (1v) are correct
Options:

B154757877. 1
6154757878 2
61547575879 3
E154757880. 4

Question Number : 120 Question Id : 6154752018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
@) & e

@)  -FTHEm

(i) ST gt

(1v) Wﬁq—_ﬁ == e
Bt R

(1) (@), (i) ¥R (v) 79 7 (2) @), (1) ¥R (1) 77 =
@) G, (i) W () 7 @ ). @) 3 () 7
Options:

B154r57877. 1
E154757E78 2
E154757879 3
E154757880. 4

Question Number : 121 Question Id : 6154752019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the correct sequence of the following facets of Booock Number according to Colon
Classification (sixth reprint edition)

(1) Language Number
(11) Volume Number
(m) Copy Number

(iv)  Form Number

Choose the correct answer from the following options :

(1) (1), (v), (11) and (111) (2) (1), (1), (1) and (av)
(3) (1v), (1). (11) and (11) (4) (1), (m). () and (v)
Options:

E154757881. 1
E154757882. 2
E154757883. 3
E154757 58854, 4

Question Number : 121 Question 1d : 6154752019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fefrmy et (1 i ) o S S o Pt v A e -
@ T

(i) @ TF

(i) Wi 375

av) fauar 37

faferfad o o TE 300 @ =99 W -

(1) @). (v). (i) 317 (iii) @ (@), (i), (i) =T (Gv)
(3) (iv), (1), (i) 377 (ii) (4) (1), (iii). (i) #AT (iv)
Options:

E154757881. 1
6154757882 2
E154757883. 3
E154757884. 4

Question Number : 122 Question Id ;: 6154752020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following phases of Six Sigma 1n their correct sequence
(1) Define

{11) Measure

(1) Analyze

(tv) Improve

Choose the correct answer from the following options :

(1) (1). (111), (1v) and (11) (2) (1), (), (m) and (av)
(3) (1), (1). (11) and (av) (4) (u1). v). ) and (1)
Options:

B154757885. 1
6154757886 2
E154757887. 3
E154757888. 4

Question Number : 122 Question Id : 6154752020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

6 faraT = T=rieiiig =oon =1 991 %9 H foigo -

(1) TR
(11) o9
(i)  fawemm
iv) HYW

=1 4 | |wE 39 W T A -

1) (@. @G, (v) 37 G) @ (@. @). () 7 ([iv)
(3) (il (1), (i1) T (iv) (4) (iii). (iv). (i) #T (i)
Options:

E154757885. 1
B154757886. 2
E154757887. 3
6154757888 4

Question Number : 123 Question Id : 6154752021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following layers of Tiwana's KMS Architecture 1in order

(1) Interface layer

(11) Application layer

(m)  Access and Authentication layer

(tv)  Collaborative, intelligence and Filtering

Choose the correct answer from the following options :

(1) (11). (1), (1v), (1) (2) (), (1), (). (1)
(3) (1), (1), (v), (11) (4) (). (). (1), (1)



Options:

6154757889 1
£154757390. 2
E154757891. 2
6154757892, 4

Question Number : 123 Question Id : 6154752021 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 % % vH vH anganE % Frefatad w0 (SE) o F o -
@ T AW

(i)  TETEA T

(ii1) AT T THOER S

(iv)  HEAMeR, sifgh # fheefor

7= 1 7 =761 30 F === Ffaw -

(1) (1), (). (av). (@) (2)  @Gw). (1), (11). (1)

(3) Q). (). (av), (1) (4) (). av). (1), (1)
Options:

B1547578859. 1
6154757830 2
6154757831 3
61547575892 4

Question Number : 124 Question Id : 6154752022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following according to their increasing storage capacity
(1) Exabyte
(11) Zettabyte
(1) Petabyvte
(tv)  Yottabyte

Choose the correct answer from the following options :

(1) (@), (). (1), (1) (2) @), @). 1). Q)
(3) (i), (@). (v). (i) (4)  (iv), (iid). (@). (i)
Options:

E154757893. 1
B154r57894 2
B154757885 3
E154757836. 4

Question Number : 124 Question 1d : 6154752022 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FrAfeAfiaa =1 39 afta TSA AaAT % FHEE F9 § fod -

(1) TFATHIEE

(i) g

(iil) YR

(iv)  =femEmse

=1 0 ° wE 3w 9gE -

(1) (1v), (11), (1), (1) (2) (u). (1). (). Q)
(3) (111), (1), (1v), (1) (4) (v). (m). (). (@)
Options:

E1547578393. 1
E154757894 2
E154757895 3
BE154757896. 4

Question Number : 125 Question Id ;: 6154752023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following authors with their corresponding books.

List - I List - II
(a) A. Broadfield (1)  The foundations of Education for Librarmanship
(b) J.H. Shera (1) A Philosophy of Librarianship
(c) Pierce Butler (1) Librarv Power : A New Philosophy of Librarianship
(d) James Thomson (iv) Introduction to Library Science

Choose the correct answer from the following options :

(1) (a)-(1), (b)-(111). (c)-(iv), (d)-(11) (2) (a)-(v). (b)-(). (c)-(11). (d)-(11)
(3) (a)-(111), (b)-(1), (c)-(av). (d)-(i1) (4)  (a)-(). (b)-Q). (e)-(iv). (d)-(111)
Options:

B154757897. 1
6154757838 2
61547575899 3
E154757300, 4

Question Number : 125 Question Id : 6154752023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeATeATEs =EH & 39 TG T ° gHTed I -

=l - 1 g - 10
(@) uw.Fsfies () 3 FIISIEH AF USHIE T AR
(b) 5. wm 3w (i) © fEETET AT A

(c) diEd wzen (ili) TESHT TN ; U = THeATErhl A% ATSH AT
(d) =9 9T (iv) SIS 2 ATssil AEE

S o3 T faew ° wE I g

(1) (a)-(1). (b)-(111). (c)-(1v). (d)-(11) (2) (a)-(v). (b)-Q). (c)-(11). (d)-(11)
(3) (a)-(111), (b)-(@). (c)-(1v), (d)-(11) (4) (a)-(11). (b)-Q). (e)-(1v). (d)-(111)
Options:

B154757897. 1
6154757838 2
61547575899 3
E154757300, 4

Question Number : 126 Question Id : 6154752024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match the following :

List - I List - II
(a) OCLC (1) The Hague, Netherland
(b)y INIS (1) Washington DC, USA
(c) IFLA (1) Viena, Austria

(d) MEDLARS (iv) Dublin, Ohio

Choose the correct answer from the following options :

(1) (a)-(1v), (b)-(u11). (c)-(1). (d)-(11)
(2) (a)-(11), (b)-(2). (€)-(i11). (d)-(iv)
(3)  (a)-au), (b)-(11). (e)-@v). (d)-@)

(4)  (@-(mw). (b)-0). (©-1w). (d)-(0v)
Options:

61547573901 1

6154757302 2

61547573032 3

6154757904 4



Question Number : 126 Question Id : 6154752024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=t - 1 Tl - 11

(@ sidiTAd (1) 7, A5S

(b) =t (i) = g, 3TE
(¢) 3FFAT (1) feen, st
(d) Tz (iv) Zafed, T

= fau T fawew 7 == 3 g

(1)  (a@)-v). (b)-(1). (c)-(). (d)-(1)
(2)  (2)-(1). (b)-Q), (e)-(11). (d)-(1v)
(3) (a)-(111), (b)-(11). (e)-(av). (d)-(1)
(4) (a)-(111). (b)-(1). (c)-(11). (d)-(iv)

Options:

6154757901, 1
6154757902, 2
6154757903 3
6154757904, 4

Question Number : 127 Question 1d : 6154752025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

Last - T Tast - II

{a) Fundamentals of Reference Service (1) A.J. Walford

(b) Introduction to Reference Works (1) S.R. Ranganathan
(c) Reference Service (m1) F.N. Cheney and W.J. Williams
(d) Gude to Reference Books (tv) William A. Katz

Choose the correct answer from the following options :

(1) (a)-(11), (b)-(1), (¢)-(iv), (d)-(111)
(2) (a)-(m1), (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(v). (b)-(11). (c)-(111), (d)-(1)
(4) (a)-(111), (b)-(v), (c)-(1). (d)-@)

Options:

61547573905 1
E154757906, 2
6154757907, 2
6154757908, 4

Question Number : 127 Question Id ;: 6154752025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tt - 1 = - 11

(a) FromeEeH AF THE H@igE () W S, arews

(b) zTZT=TEA T THT T (i) wE. HE. TEEA
(¢) THm AfEH (i) TF.TH. = 3 ey, ¥, fafemm
(d) ES 7 T T (v) Tafems . Fiz=

= fou v fohew W @ wE s 9T

(1)  (a)-(i) (b)-(), (e)-(v). (d)-(ii1)
(2) (a)-(i11). (b)-(1v). (c)-(1). (d)-(11)
(3)  (a)-(v). (b)-(11). (¢)-(111). (d)-(Q)
(4 (a)-(w), (b)-av), (¢)-(1D). (d)-()

Options:

6154757305 1
6154757906, 2
6154757907, 3
6154757908, 4

Question Number : 128 Question 1d : 6154752026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the following notation of second summary of DDC (19 Edition) with their correct

terms :
List - 1 List - II
(a) 110 (1) Ethics (Moral Philosophy)
(b) 120 (1) Epistemology Causation. Human kind
(c) 160 (m) Meta Physics
(d 170 (iv) Logic

Choose the correct answer from the following options :

(1) (a)-(1v), (b)-(@11). (c)-(11), (d)-(1)
(2) (a)-(111). (b)-(11). (e)-(1). (d)-(1v)
(3)  (a)-(1). (b)-(111). (e)-(av). (d)-()

(4) (a)-(111), (b)-(11). (c)-(v). (d)-(1)
Options:
6154757309 1
6154757310 2
6154757311 3
6154757912 4

Question Number : 128 Question Id : 6154752026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=1 31 = (1997 F501) F IR A0 % (Eienad 39 39 5 99 ° gHied i

7= - 1 Tl - 11
(a) 110 Q) it wE (AfEE )
() 120 (i) @ HHTE, FEE, T ES
(c) 160 (iii) wHETE A
(d) 170 (iv) @

Hr= fau T fawen 7 w6 I 9w

(1) (a)-(iv). (b)-(iid). (c)-(Gi). (d)-(1)
(2) (a)-(111), (b)-(11). (e)-(1). (d)-(Av)
(3)  (a)-(i). (b)-(iid). (¢)-(v). (d)-()

4)  (a)-Gn). (b)-). (e)-(v). (d)-(1)
Options:
6154757309 1
6154757310 2
6154757311 3
6154757912 4

Question Number : 129 Question Id : 6154752027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following number of Table — 1 : Standard Subdivisions of Dewey Decimal

Classification (19% Edition) with their correct terms :

List -1 List —1II
(a) 0202 (1) Orgamzations and management
(b) 0142 (1) Synopses
(c) 06 (1) Schools and Courses
(d) 071 (1v) Etymology

Choose the correct answer from the following options :

(1)  (a)-(v). (b)-(i1). (c)-(11). (d)-(1)
(2)  (a)-({i). (b)-G). (e)-Gii). (d)-({v)
(3) (a)-(11). (b)-(iv). (¢)-(1). (d)-(i12)
(4)  (a)-(m), (b)-(). (c)-(). (d)-(1v)

Options:

6154757913 1
£154757914 2
£154757915 2
6154757916, 4

Question Number : 129 Question Id : 6154752027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



St =t gz it (1997 T ) =R "Wt - 1 : 5 Suia TS ohl eI iEa e i 36 Hel 9E

o AT i

et - 1 T - 11
(a) 0202 (1) =39 317 TEaT
(b) 0142 (i)  =Er
() 06 (iil) fagATEE T T
(@ 071 (iv) =er

= fau o fawes @ wE IR g

(1) (@-(v). (b)-(iid). (e)-Gi). (d)-(1)
2 (a)-(i). B)-G), (©)-Gid), (@)-(iv)
3 (@)-(). b)-Gv), (0)-). (d)-(ii)

(4)  (a)-(1n), (b)-(11). (0)-(). (d)-(v)
Options:
61547579121
E154757914 2
61547573915 2
6154757316 4

Question Number : 130 Question Id : 6154752028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following protocols with their creators :

Last — I Eiat-~ T8
(a) HTTP (1)  Eric Rescorma and Allan M. Schiffman
(b) SHTTP (1) Tim Berners —Lee
(c) FTP (1) Robert E. Kahn and Vintcerf
(d) SMTP (iv) Abhay Bhusan

Choose the correct answer from the following options :

{2} {a}'{ll}: (b}-{]_'l].} {GJ":IJ {d:]—{l‘."}
(3) (a)-(11). (b)-(1). ()-(1v). (d)-(111)

(4) (a)-(1v). (b)-(1). (e)-(11), (d)-(i11)
Options:

£154757917. 1

6154757918, 2

6154757919, 3

6154757920, 4

Question Number : 130 Question Id : 6154752028 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafefan e # 39e T & =g g Fira,

T - 1 o=t - 11
(a) mHAA () TR TR AN U v, faEe

(b) mra AT () fou sEE-

() UF A (i) T2 5. F1=A 3R fAeTE
(d) wgwy g (iv) =19 9w
Fetefas oo & w21 37 90

(1) (a)-(11). (b)-(iv). (c)-(1), (d)-(111)
2)  (@)-GD). (b)-(i1d). (c)-(). (d)-(iv)
(3 (a)-1), (0)-1). (¢)-(v). (d)-(111)
4)  (a)-(iv). (b)-(1). (c)-(). (d)-(iii)

Options:

6154757917 1
6154757918 2
6154757919 3
154757920 4

Question Number : 131 Question Id : 6154752029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

List - I Last - IT
(a) Barcode Technology (1) Ray Theories Ray tag
(b) RFID Technology (1) Sir Willhiam Herschel
(c) QR code (m) Norman Joseph Woodland and Bernard Silver
(d) Biometric Technology (zv) Denson Wave

Choose the correct answer from the following options :

{1} {.a} '(ii}! (b}'l:iv}r {C}-{l} (d)'{lu)
(2) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
(3) (a)-(v). (b)-(111). (c)-(1). (d)-(11)

(4) (a)-(1v). (b)-(1). (e)-(11), (d)-(111)
Options:
61547573211
6154757922 2
E1547E7922 2
61547573924 4

Question Number : 131 Question Id : 6154752029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt - 1 T - 11
(a) SFIS TEITTE » Ifmgmim

(b) =W UE AT I WA (1) = fafem =da

() ¥ W HTs (iil) FHT FHE FEAE AR TS e
(d) =TETHEE e (iv) =54

1) (@)-1), (b)-av), (e)-(1). (d)-({1D)
(2)  (a)-Gi). (b)-(1). (e)-(iv). (d)-(i1)
(3)  (a)-(iv). (b)-(iid). (c)-(1). (d)-(1D)
(4)  (2)-(v). (b)-(). (c)-(11). (d)-(iii)

Options:

6154757921 1
6154757922 2
E154757923 2
6154757924 4

Question Number : 132 Question Id : 6154752030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following tvpes of questions with corresponding explanations :
List - I List - IT

(a) Ranking item questions (1) When the language of gquestions 1= such that it

may be interpreted 1n more than one way

(b) Ambigous questions (11) When answer to a question has been preconceived

and classified into possible groups

(¢) Dichotomous questions (111) Questions are given to record the preference of

the respondent

(d) Structural questions (1v) When reply to a question 1s given in form of one of

the two alternatives

Choose the correct answer from the following options :

‘:1} {a}'{iu}- {b}'{1)= {C}—{].V}. {d}_{u}
(2)  (@)-1). (b)-(ib. (¢)-av). (-0
(3) (a)-(1). (b)-(11). (¢)-(1i1). (d)-(1v)

(4)  (a)-(v). (b)-(11). (c)-(1). (d)-(iii)
Options:
61547579251
6154757926 2
6154757927 3
E1547573928 4

Question Number : 132 Question Id : 6154752030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(L (a)-(). (b)-). (e)-(v). (d)-(1)
(2) (a)-(12). (b)-(111). (c)-(v). (d)-(1)
(3) (a)-(1). (b)-(11). ()-(11d). (d)-(iv)

(4)  (a)-0v). (b)-11). (c)-(1). (d)-(111)
Options:
61547573925 1
E154757326. 2
B154757327. 3
6154757325 4

Question Number : 133 Question 1d : 6154752031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following :

List - I List - II

(a) Judgemental Sampling (1) Based on ability of the researcher to divide the
sampling population 1nto groups

(b) Snowball Sampling (1) Selecting a sample using networks

(c) Cluster Sampling (m1) Each element in the population is given on equal
and independent chance of selection

(d) Simple Random Sampling (iv) Identification of person who can provide the best
information

Choose the correct answer from the following options :

(1) (a)-(1v). (b)-(11). (¢)-(1), (d)-(111) (2) (a)-(11). (b)-(1v). (c)-(11). (d)-(1)
(3) (a)-(11), (b)-(1). (c)-(11). (d)-(1v) (4)  (a)-(). (b)-(11). (c)-(av). (d)-(111)
Options:

BE15475739259. 1
B154757330 2
6154757331 3
E154757332 4



Question Number : 133 Question Id : 6154752031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et - 1 et - 10
(a) TEEREER FEEE (1) T oo 1 Age | Ay F1 f gl i Ana 7 S
(b) Fﬁq-};r:j-h e (1)  F7FE T IO T A e F T
() e Fewm (1) =99 H TeAF 37999 & 999 6 TOF 3% =0 99eE o TS 2

- r - [ =~ ! A, -
(dy = AGT=aF FERED e (1v) 3 =hih o T HAT Al 309 AEHE T FEAl &

ﬁﬁ%'ﬁg{Tn(ﬁfmﬁﬂ'ﬁiiiﬂﬂ dﬂ?jiﬁﬁl

(1) (a)-(1v). (b)-(11). (c)-(1), (d)-{111) (2)  (a)-(m1). (b)-(1v). (e)-(1). (d)-(1)
(3) (a)-(11), (b)-(1). (c)-(1m1). (d)-(1v) (4) (a)-(1). (b)-(1). (e)-(1v). (d)-(111)
Options:

E154757329. 1
61547573930 2
E1547573921. 3
B154757332. 4

Question Number : 134 Question Id : 6154752032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Consortia-based subscription of online resources now a dayvs has become a
practice 1n most of the Umiversity Libraries in India

Reason (R) :  Spiwraling cost of publications. optimal utilization of resources at least
efforts and cost coupled with growing expectations of users, have made
such subscription redundant

In the context of these two statements which one of the following 1s true?

(1) (A) 1s false. but (R) 1s true (2)  (A)1s true. but (R) 1s false
(3) Both (A) and (R) are true (4) Both (A) and (R) 1= false
Options:

E1547573933. 1
E15475739234 2
61547573935 3
E154757336. 4

Question Number : 134 Question 1d : 6154752032 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547573932 1
E154757934 2
E1547573935 3
B154757356. 4

Question Number : 135 Question Id : 6154752033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Glossary 1s an alphabetical list of technical terms on a particular subject.
Reason (R) :  There 15 no difference between discipline-specific terms and general
terms.

In the context of these two statements . which one of the following 1= true?

(1) (A) 1s false, but (R) 1= true (2) (A)1s true. but (R) 1s false
(3) Both (A) and (R) are true (4) Both (A) and (R) are falze
Options:

B154757337. 1
6154757338 2
6154757939 3
E154757340 4

Question Number : 135 Question Id : 6154752033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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7% (R) : T famm = wrsal @1 JETE weel % offe w1 A9 A6 A

= =T At F Ted O fefetas O O o8 39 % 99 -

1) (A 7=E 2 g ((R) 591 2 2 (AT 2 g (R) T 7
@ @@t (@) () s ®) 3 e 7
Options:

BE1547573937. 1



E1547573938. 2
B15475739359 3
6154757340, 4

Question Number : 136 Question Id : 6154752034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Assertion (A) : INFLIBNET provides electromic document delivery service to all types of
libraries in India.

Reason (R) :  Due to mnadequate ICT infrastructure, most of the hibraries are not 1n a
position to provide electronic document delivery service, to their chentele.

In the context of these two statements. which one of the following 1s true?

(1) Both (A) and (R) are true (2) (A)1s true, but (R) 1s false
(3) Both (A) and (R) are false (4) (A) 1s false but (R) 1s true
Options:

51547573411
6154757342 =
6154757343 3
6154757344 4

Question Number : 136 Question Id : 6154752034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AfFYT (A) : 3Rz (INFLIBNET) 9id § ®ft 98 = TEasiedl i seAdaii-ehl Toid faaer da
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IR T =i EAiT J 475 7
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(1)  (A) = (R) 21 &= 3 (2 (A)TH & 9 (R) T B
(3)  (A) #W (R) =H 7o 2 (4) (A) 7= ? T (R) @R R
Options:

61547573411
E154757342 2
E154757343 3
E154757344 4

Question Number : 137 Question Id : 6154752035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) :  As the level of Recall decreases, the precision increases.
Reason (R) . Recall and Precision are not always inversely correlated.

In the context of these two statements. which one of the following 1s true?

(1) (A) 1s false, but (R) 1s true (2) (A)1s true. but (R) 1s false
(3) Both (A) and (R) are true (4) Both (A) and (R) are false
Options:

E154757345 1
E154757346 2
E154757347 3
E1547573458. 4

Question Number : 137 Question Id : 6154752035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AfTFeA (A) 1 HH-H TR # =R e 2, aheem = s A 2
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(1)  (A)7=@ 2 7d (R)7A1 2 (2) (A TF 2, Wy (R) e 2
(3) (A 3 (R) =1 T £ (4)  (A) 1 (R) ZH1 7o 7
Options:

5154757345 1
6154757346 2
6154757347 3
E154757345. 4

Question Number : 138 Question Id : 6154752036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Web search engines get their information by crawhng from site to site.

Reason (R) . The “Spider” checks for the standard file name spider. Avi. addressed to
it before sending certain information back to be indexed

In the context of these two statements. which one of the following 1s true?

(1) (A) 1s true. but (R) 1s false (2) (A) 1s false, but (R) 1s true
(3) Both (A) and (R) are false (4) Both (A) and (R) are true
Options:

E1547573459 1



E154757350 2
6154757351 3
6154757352 4

Question Number : 138 Question 1d : 6154752036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AlTFA (A) 1 99 B 399 UF A152 F EI @152 § WA F FAG A9 g1 9 F 4 7
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(1) (A= 2 wig (R) 7o 7 (2) (A)7ea 2, g (R) @31 2
(3) (A) 311 (R) 714 2 (4) (A) 3 (R) o T4 2
Options:

6154757349 1
E154757350 2
E154757351. 3
B154757352. 4

Question Number : 139 Question Id : 6154752037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Asszertion (A) : Big Data 1= a product of data being generated constantly, automatically.
and rapidly.
Reazon (R) :  Due to the omnipresence of personal computing devices and smart

phones, 1ndividuals generate massive amount of data through
e-commerce, e-communication, social media, online searches and GPS
Navigation.

In the context of these two statements. which one of the following 1s true?

(1) (A) 1s true, but (R) 1s false (2) (A) 1s false. but (R) 1= true
(3) Both (A) and (R) are true (4) Both (A) and (R) are false
Options:

61547573531
61547573954 2
E1547573955 3
E154757356. 4

Question Number : 139 Question Id : 6154752037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE154757353. 1
61547573954 2
6154757355 3
6154757356, 4

Question Number : 140 Question Id : 6154752038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The ‘Schedule tool’ of survey method helps the researcher to get
information mostly from i1lliterates respondents.

Reason (R) . In the schedule method. the onus of filling up of the questionnaire usually
lies with the respondents.

In the context of these two statements. which one of the following 1s true?

(1) (A) 1s true. but (R) 1s false (2) Both (A) and (R) are true
(3) (A) 1s false, but (R) 1s true (4) Both (A) and (R) are false
Options:

E154757357. 1
E1547573958. 2
E1547573959 3
B154757360. 4

Question Number : 140 Question Id : 6154752038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154757957 1
£154757958. 2
£1547573959 2
154757960, 4

Sub-Section Number: 2
Sub-Section 1d: 61547590
Question Shuffling Allowed : Yes

Question Id : 6154752039 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

Read the passage given below and answer the questions which follow.

Science provides the answer as to how to perform certain operations in order to secure given
ends. But such knowledge 1s a two-edged sword. The same processes that led to the
manufacture of aniline dyves set 1n motion phy=siological processes that ended 1n death for
many of those who helped manufacture the dves. The development of superior methods of
keeping records, basic to the growth of social science. mayv also be the means of strenghtening
the grip of a represszive political dictatorship. Todav the use of radioactive-isotope therapy
promises much for the reduction of disease. but these 1sctopes are products of the same
scientific knowledge which produced the atomic bomb and which has made possible the even
more destructive hydrogen bomb. Science as a mehod gives power. but this 1s a power which
may be used for disapproved as well as approved ends.

Science, then can (1) offer a method of solving problems. 1.e.. of achieving values: (2) offer
alternative methods. so that relative costs can be calculated: (3) provide a means for
predicting what the order consequences of a given course of action may be. If. for example. it
15 desired to clear a slum. it 1= good to be able not only to predict the financial and emotional
costs of the specific program but also to know what other effects the slum clearance will have
upon the community. This 1s a task to which only the scientific method may be successful
applied.

Since sclence operates as a technique of problem solving. and since problems in this sense are
formulated upon the basis of vaue judgements., then 1t 1s clear =science and values are
mnterrelated.

Sub questions

Question Number : 141 Question Id : 6154752040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Problems are formulated upon the basis of

(1) Market survey (2) Value Judgment
(3) Review of literature (4) Pilot study
Options:

5154757361 1
E154757362 2



E1547573963. 3
B154r57364. 4

Question Number : 142 Question Id ;: 6154752041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which destructive product 1s made up by the use of radioactive - 1sotope?

(1) Machine Gun (2) Hydrogen Bomb
(3) Robot (4) Pistol
Options:

E154757365. 1
E154757366. 2
E154757367. 3
E1547573968. 4

Question Number : 143 Question Id : 6154752042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which kind of process led to death for many who helped manufacture of the dyes?

(1) Motion physiclogical process (2) Electromechanical process
(3) Cognitive process (4) Psychological process
Options:

6154757369 1
E154757970. 2
E1547573971. 3
B1547573972 4

Question Number : 144 Question Id ;: 6154752043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the benefit of Radioactive Isotope Therapy™?

(1) Reduction of anxiety (2) Reduction of stress
(3) Reduction of Disease (4) Reduction of psycho-fear
Options:

E154757373. 1
6154757974 2
E1547573975 3
B154757376. 4

Question Number : 145 Question Id : 6154752044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following strengthens the grip of a repressive political dictatorship?

(1) Superior method of keeping records
(2) Static 1n growth of social sciences
(3 Inferior method of documentation

(4) Fair political practice

Options:

6154757977 1
E154757978. 2
6154757979 2
6154757980, 4

Question Id : 6154752039 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

T UHT T U gar deEn 2| T ulEnet % e vhe T e g, 39 A J e e
TEHATE 7% 75 51 IR T996  [GEE B JEEE 3HE Sl $ g 7 5| T @9 F TEm F
T T HEAS W1 F WRAT 2| AT STl HiHd SEETH® HRcET 1 TF TR H OFHEI o i SHEET
S o] TS W9 F HEE 0 2| OF TR & =0 F fawe w1t oA 2w 9w v o At 2

a7 T (1) T T 379 gea T i O TR FAT 7 (2) S T WA HAl & AT aee
T T F T TE  (3) T U A F et it = qEEe e e ST # e 2
IR TEEY A1 T U Tl Sl A A6 2, a1 98 3Tl 5P T HEwE e i e s e
WP & JEHH o AEl 97 W S fon e 6 T s F 5eH 9 5EEE W -9 1R WHE U5 d@9d &
A% U UHI HEUR 2 T8 W Al A5HE T0TE A et Ya o A S A 2

= fomm omen Turae i afEta F w9 8 F9 w2 A0 9 = a9 T gnemen w Em gen o
% SR W 0 e 8, o1 7% v @ % fawm ok 5o ofa: detuw )

Sub questions

Question Number : 141 Question 1d : 6154752040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757361 1
E1547573962. 2
E1547573963. 3
E154757364, 4

Question Number : 142 Question Id : 6154752041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154757365. 1
E1547573966. 2
B154757367. 3
E154757365. 4

Question Number : 143 Question 1d : 6154752042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E1547573659. 1
E154757370. 2
61547573971 3
B1547573972 4

Question Number : 144 Question Id : 6154752043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154757373. 1
E154757374 2
E1547573975 3
BE1547573976 4

Question Number : 145 Question Id : 6154752044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154757977 1
£154757978 2
E154757979 2
6154757980, 4

Sub-Section Number: 3
Sub-Section 1d: 61547591
Question Shuffling Allowed : Yes

Question Id : 6154752045 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension



Read the following passage carefullv and answer the questions that follow.

The term User Education 1s used interchangeably with “hbrary instruction’. lhbrary
orientation’ and ‘bibliographic instruction’. Neelameghan distinguishes user education. user
orientation and user assistance. Roberts and Blandy prefer a broad term: hibrary instruction.
User education 1s a comprehensive service and a process of making the user self-reliant in
locating. sorting and repacking information. This process may require two strategies: for
general exposure. and for specific subject oriented — bibliographic instruction. The first visit
to the library 1s mostly casual and in a sense this requires more frequent meetings with the
user.

By the 1850s. US libramans instructed patrons on hbrary use Samuel Greens
attempt to 1nitiate a reference desk in the public library in the 1870s. Louis Shore's ibrary-
college movement in the 1920s and Patricia Knapp's Montieth College programme in the
1960s are all significant. In 1949 the three-stage user education programme proposed by the
UK hbrary association’s Unmiversity and Research Section was a landmark. Ranganathan
prescribed the role of an intermediary as a user-fmendly reference libraman. Boon Fjallbrant
and Stevenson Hoplkins. Roberts and Blandy and others have made extensive historical
assessments. Progress was slow. partly due to the problem of defining its place in the
services: 1t was lost 1in the mmformational function or reference service. While lectures. tours
and seminars are traditional methods. programmed learning. teaching machines. audiovisual
tools and computer assisted learming (CAL) are the recent advances. User education 1z not
merely a hibrarv tour or a brochure. it includes searching databases (local and global) and
generally making the user less dependent on others.

A variety of media are used. One-to-one nstruction 1s simple but expensive.
Omrentation by informal tour 1s traditional and effective. but it 1s time-consuming and too
general. and can cause boredom. Printed materials (leaflet, handout) describe services. tools
and search strategies. but need frequent revision and may not be used. Displaving of posters.
diagrams. etc can teaching skills, but reguires a mediator. In workbooks. the audience 1=
involved. which enables learning at the individual's pace and the educator can know the

effect of learning.
Sub questions

Question Number : 146 Question Id : 6154752046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



User education as a service aims to

(1) Aid in understanding non-bibliographic instruction

(2) Use appropriate referral source

(3) Rely upon intermediary service

(4) Make the user self-reliant in locating, sorting and repackaging information
Options:
1547579511
E1547575982. 2

E1547573983. 3
E154757 384, 4

Question Number : 147 Question Id : 6154752047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s Roberts and Blandy's most preferred term for User Education’

(1) Library orentation (2) Bibliographic mstruction
(3) Library instruction (4) TUser assistance
Options:

61547573985, 1
E1547573986, 2
E1547573987. 3
E154757388. 4

Question Number : 148 Question 1d : 6154752048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Three stage of user education programme was proposed by

(1) S.R. Ranganathan

(2) University and Research Section. UK Library Association
(3) Samuel Green

(4) Indian Library Association

Options:

61547579589 1
£154757990. 2
£154757991. 2
154757992 4

Question Number : 149 Question Id : 6154752049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What are the traditional methods of imparting user education?

(1) Lectures, tours and seminars (2) Teaching machines
(3) Audio-visual tools (4) Programmed learning
Options:

E15475739583 1
E154757994 2
B154757395 3
B154757396, 4

Question Number : 150 Question Id : 6154752050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which of the following type of ‘user-instruction’ 1s relatively a costly proposition and less time
consuming?

(1) One to many instruction

(2) Informal tour

(3) One to one 1nstruction
(4) Classroom 1nstruction
Options:

E1547573997. 1
E1547573998. 2
615475739959 3
E154758000. 4

Question Id : 6154752045 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label @ Comprehension
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Sub questions

Question Number : 146 Question Id ;: 6154752046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
TR ST HaT 25599 & T H

(1) 7% H=fdq 991 = 39290 +1 G694 § 5E9F =
(2)  =UT=d 924 919 & I3 7

(3)  HEHEY HAl W MW TEAT B

(4) IR = GEATHT I TSar, 92 AR G 9 4w ST 2

Options:
61547579511

E1547573982 2
B1547573983. 3
B154757384, 4

Question Number : 147 Question 1d : 6154752047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T ot = o TeeE AR sl gnn R meeay Hefda oes = wEm R 2 0

(1)  TAREErgE (2) wHedmy Mg
(3) TEEH fem (4) TEE TEEA
Options:

BE1547573985. 1
61547573986 2
E154757387. 3
61547573958 4

Question Number : 148 Question Id : 6154752048 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(1)  TH. AW, 7Y g
(2) . . oTEdil O9 F favalaed JR A5EEE 9 g

(3)  THHAS TH g

(4)  ¥TWHE FaEeE 99

Options:

6154757989 1
6154757990 2
6154757991, 3
6154757992 4

Question Number : 149 Question 1d : 6154752049 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  =amEH, 51 3 960EE (2)  TorEor o3
(3)  F=-73F I (4) TrATEg e
Options:

BE1547573953 1
61547573984 2
E1547573935 3
E154757336. 4

Question Number : 150 Question Id : 6154752050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR e i T w7 T AT me A B A 5 w5 o B Y

(1) TF-5 w1fuF Hemaet

(2) FATTETE 21 = e
3)  vHE-UE A T A

(4)  FE Y (FerE =a) R et

Options:

6154757997 1
6154757998 2
6154757999 2
154755000, 4



